

DOW UNIVERSITY OF HEALTH SCIENCES, KARACHI



BIDDING DOCUMENTS

Single Stage – Single Envelope Procedure
As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)

IFB / NIT No. DUHS/W&S/2026/1665, Dated: 26th January, 2026

**MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI.
(REF NO: DUHS/W&S-NIT/195)**

TABLE OF CONTENTS

Description	Page No.
INVITATION FOR BIDS	4
Form Notice Inviting Tender	4
INSTRUCTIONS TO BIDDERS	5
A. General	
IB.1 Scope of Bid	6
IB.2 Source of Funds	6
IB.3 Eligible Bidders	6
IB.4 One Bid Per Bidder	6
IB.5 Cost of Bidding	6
B. Bidding Documents	
IB.7 Contents of Bidding Documents	7
IB.8 Clarification of Bidding Documents	7
IB.9 Amendment of Bidding Documents	7
C. Preparation of Bids	
IB.10. Language of Bid	8
IB.11 Documents Accompanying the Bid	8
IB.12 Bid Prices	8
IB.13 Currencies of Bid and Payment	9
IB.14 Bid Validity	9
IB.15 Bid Security	9
IB.16 Alternate Proposals by Bidder	10
IB.17 Pre-Bid Meeting	10
IB.18 Format and Signing of Bid	10
D. Submission and Evaluation of Bids	11
Eligibility Criteria (Minimum Mandatory Requirements)	11
IB.20 Deadline for Submission of Bids	12
IB.21 Late Bids	12
IB.22 Modification, Substitution and Withdrawal of Bids	12
E. Online Bid Opening and Evaluation	
IB.23 Online Bid Opening	12

IB.24	Process to be Confidential	12
IB.25	Clarification of Bids	12
IB.26	Examination of Bids and Determination of Responsiveness	13
IB.27	Correction of Errors	13
IB.28	Evaluation and Comparison of Bids	13
F.	Award of Contract	
IB.29	Award	14
IB.30	Employer's Right to Accept any Bid and to Reject any or all Bids	14
IB.31	Notification of Award	14
IB.32	Performance Security	15
IB.33	Signing of Contract Agreement	15
IB.34	General Performance of the Bidders	15
IB.35	Integrity Pact	15
IB.36	Instructions Not Part of Contract	15
BIDDING DATA		16
NOTES ON BIDDING DATA		17
BIDDING DATA		18-19
CONTRACT / BIDDING DATA		20
FORM OF BID AND APPENDICES TO BID		21
FORM OF BID		22
Appendix-A to Bid	: Bidding Data	23
Appendix-B to Bid	: Bill of Quantities	25
Appendix-C to Bid	: Integrity Pact	30
FORMS		31
BID SECURITY		32-33
PERFORMANCE SECURITY		34-35
CONTRACT AGREEMENT		36-37
BILL OF QUANTITES		38-55

NOTICE INVITING TENDER (NIT)



DOW UNIVERSITY OF HEALTH SCIENCES

NIT No. DUHS/W&S/2026/1665

Dated: 26-01-2026

NOTICE INVITING TENDER (NIT)

Dow University of Health Sciences (DUHS), Karachi is a Public Sector University that invites e-bids through E-Pak Acquisition & Disposable System (EPADS) from well-reputed Companies / Bidders/firms having registration with the Federal Board of Revenue (FBR), Income Tax Department, Sindh Revenue Service Board and Sales Tax.

S#	NAME OF WORK	METHOD OF PROCUREMENT
1.	PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)	
2.	REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)	
3.	(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)	Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)
4.	MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)	
5.	MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)	Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)
Tender Fee:	Rs. 5,000/- (Rupees Five Thousand Only) Non-Refundable in shape of Pay Order / Demand Draft in favor of Dow University of Health Sciences, Karachi.	
Security:	Bid Security and Performance Security as mentioned in the bidding document.	

E-Bidding documents as per detailed terms and conditions, specifications and requirements are available for the registered bidders on Sindh Public Procurement Regulatory Authority's EPADS at <https://portalsindh.eprocure.gov.pk/#/> and University website <https://duhs.edu.pk> on the payment noted above (non-refundable) on any working day except the day of opening of tenders.

The electronics bids must be submitted using EPADS before closing time **16-02-2026 at 10:00 Hrs.** Manual bids, shall not be accepted. Electronic Bids will be opened on **16-02-2026 at 11:30 Hrs.** For any query related to e-bidding, please Contact to the facilitator /Coordinator, Procurement Committee Services at Admin Block 5th floor DMC Campus, Baba-e-Urdu Road near Civil Hospital Karachi, Phone No. 021-38771000 (Ext. 5820 /5907). The tender fee (non-refundable) and bid security (refundable) shall be submitted in the form of a Pay Order/Demand Draft / Bank Guarantee issued by a Scheduled Bank of Pakistan in favor of Dow University of Health Sciences, Karachi and must be delivered to the above-mentioned office of the Facilitator / Coordinator, Procurement Committee at the same address.

In case of any unforeseen situation resulting in the closure of the office on the date of opening or if Government declares Holiday the tenders shall be submitted/opened online on the next working day at the same time. The Procuring Agency reserves the right to reject any or all bids subject to relevant provisions of SPP Rules, 2010 (Amended up to date) and may cancel the bidding process at any time prior to the acceptance of a bid or proposal under "Rule-25" of said Rules. In case of any ambiguity in between NIT and tender document, tender will be considered as senior.

**DIRECTOR
Works & Services Department, (DUHS)**

www.duhs.edu.pk
Baba-e-Urdu Road, Karachi - 74200 Pakistan.
Tel: 021-99216065 Fax: 021-99216065

26cm x 3col

INSTRUCTIONS TO BIDDERS

INSTRUCTION TO BIDDERS

A. GENERAL

IB.1 Scope of Bid

1.1 The Employer as defined below hereinafter called “the Employer” wishes to receive bids for the construction and completion works as described below and summarized referred to as the “Works”.

Name and Address of the Employer:

The Employer is **DOW UNIVERSITY OF HEALTH SCIENCES**

Name of the Project & Summary of the Works:

**MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES,
OJHA CAMPUS, DUHS, KARACHI.**

1.2 The successful bidder will be expected to complete the works within the time specified in Appendix-A to Bid.

1.3 Joint Venture not allowed

IB.2 Source of Funds

2.1 The Employer has arranged funds from University Development Working Party (UDWP) and it is intended that part of the proceeds of this will be applied to eligible payments under the Contract for which these Bidding Documents are issued.

IB.3 Eligible Bidders

The Eligible Bidders who fulfilled the ELIGIBILITY CRITERIA (MINIMUM MANDATORY REQUIREMENTS) of the tender would be declared technically qualified for further evaluation as per the Evaluation Criteria specified in this bidding document.

IB.4 One Bid per Bidder

4.1 Each bidder shall submit only one bid either by himself, or as a partner in a joint venture (**JOINT VENTURE NOT ALLOWED**). A bidder who submits or participates in more than one bid (other than alternatives pursuant to Clause IB.16) will be disqualified.

IB.5 Cost of Bidding

5.1 The bidders shall bear all costs associated with the preparation and submission of their respective bids and the Employer will in no case be responsible or liable for those costs, regardless of the conduct or outcome of the bidding process.

B. BIDDING DOCUMENTS

IB.7 Contents of Bidding Documents

7.1 The Bidding Documents, in addition to invitation for bids, are those stated below and should be read in conjunction with any Addenda issued in accordance with Clause IB.9.

1. Instructions to Bidders.
2. Bidding Data.
3. General Conditions of Contract, Part-I (GCC).
4. Particular Conditions of Contract, Part-II (PCC).
5. Specifications – Special Provisions.
6. Specifications - Technical Provisions.
7. Form of Bid & Appendices to Bid.
8. Bill of Quantities (Appendix-B to Bid).
9. Form of Bid Security.
10. Form of Contract Agreement.

7.2 The bidders are expected to examine carefully the contents of all the above documents. Failure to comply with the requirements of bid submission will be at the Bidder's own risk. Pursuant to Clause IB.26, bids which are not substantially responsive to the requirements of the Bidding Documents will be rejected.

IB.8 Clarification of Bidding Documents

8.1 Any prospective bidder requiring any clarification (s) in respect of the Bidding Documents may notify the Employer in writing at the Employer's address indicated in the Invitation for Bids. The Employer will respond to any request for clarification which he receives earlier than (07) seven days prior to the deadline for submission of bids.

Copies of the Employer's response will be forwarded to all purchasers of the Bidding Documents, including a description of the enquiry but without identifying its source.

IB.9 Amendment of Bidding Documents

9.1 At any time prior to the deadline for submission of bids, the Employer may, for any reason, whether at his own initiative or in response to a clarification requested by a prospective bidder, modify the Bidding Documents by issuing addendum.

9.2 Any addendum thus issued shall be part of the Bidding Documents pursuant to Sub-Clause 7.1 hereof and shall be communicated in writing to all purchasers of the Bidding Documents. Prospective bidders shall acknowledge receipt of each addendum in writing to the Employer.

9.3 To afford prospective bidders reasonable time in which to take an addendum into account in preparing their bids, the Employer may extend the deadline for submission of bids in accordance with Clause IB.20

C. PREPARATION OF BIDS

IB.10 Language of Bid

10.1 The bid and all correspondence and documents related to the bid exchanged by a bidder and the Employer shall be in the bid language stipulated in the Bidding Data (English) and Particular Conditions of Contract. Supporting documents and printed literature furnished by the bidders may be in any other language provided the same are accompanied by an accurate translation of the relevant parts in the bid language, in which case, for purposes of evaluation of the bid, the translation in bid language shall prevail.

IB.11 Documents Accompanying the Bid

11.1 Each bidder shall:

- (a) submit a written power of attorney authorizing the signatory of the bid to act for and on behalf of the bidder;
- (b) update the information indicated and listed in the Bidding Data and previously submitted with the application for prequalification, and continue to meet the minimum criteria set out in the prequalification documents which as a minimum, would include the following:
 - (i) Evidence of access to financial resources along with average annual construction turnover;
 - (ii) Financial predictions for the current year and the two following years including the effect of known commitments;
 - (iii) Work commitments since prequalification;
 - (iv) Current litigation information; and
 - (v) Availability of critical equipment.
- (c) furnish a technical proposal taking into account the various Appendices to Bid specially the following:

Appendix-E to Bid Proposed Construction Schedule Appendix-F to Bid Method of Performing the Work Appendix-G to Bid List of Major Equipment Appendix-K to Bid Organization Chart for Supervisory Staff and other pertinent information. (if applicable)

11.2 Bidders shall also submit proposals of work methods and schedule, in sufficient detail to demonstrate the adequacy of the Bidders' proposals to meet the technical specifications and the completion time referred to in Sub-Clause 1.2 hereof.

IB.12 Bid Prices

12.1 Unless stated otherwise in the Bidding Documents, the Contract shall be for the whole of the Works as described in Sub-Clause 1.1 hereof, based on the unit rates and / or prices submitted by the bidder.

122 The bidders shall fill in rates and prices for all items of the Works described in the Bill of Quantities. Items against which no rate or price is entered by a Bidder will not be paid for by the Employer when executed and shall be deemed covered by rates and prices for other items in the Bill of Quantities.

123 All duties, taxes and other levies payable by the Contractor under the Contract, or for any other cause, as on the date 28 days prior to the deadline for submission of bids shall be included in the rates and prices and the total Bid Price submitted by a bidder.

Additional / reduced duties, taxes and levies due to subsequent additions or changes in legislation shall be reimbursed / deducted as per Sub-Clause 70.2 of the General Conditions of Contract Part-I.

- General Condition refer to page # 19-A

124 The rates and prices quoted by the bidders are subject to adjustment during the performance of the Contract in accordance with the provisions of Clause 70 of the Conditions of Contract. The bidders shall furnish the prescribed information for the price adjustment formulae in Appendix-C to Bid, and shall submit with their bids such other supporting information as required under the said Clause. (not applicable)

IB.13 Currencies of Bid and Payment

13.1 The unit rates and the prices shall be quoted by the bidder entirely in Pak rupees. The Employer shall make payment only in Pak Rupees and no foreign currency payments are admissible. A bidder expecting to incur expenditures in other currencies for inputs to the Works supplied from outside the Employer's country shall bear all the costs and risks for arranging the requirements of such currencies through his own resources.

IB.14 Bid Validity

14.1 Bids shall remain valid for the **90 Days** after the Date of Bid Opening specified in Clause IB.23.

14.2 In exceptional circumstances, prior to expiry of the original bid validity period, the Employer may request that the bidders extend the period of validity for a specified additional period which shall in no case be more than the original bid validity period. The request and the responses thereto shall be made in writing. A bidder may refuse the request without forfeiting his Bid Security. A bidder agreeing to the request will not be required or permitted to modify his bid, but will be required to extend the validity of his Bid Security for the period of the extension, and in compliance with Clause IB.15 in all respects.

IB.15 Bid Security

15.1 Each bidder shall furnish, as part of his bid, a Bid Security in the amount stipulated in the Bidding Data in Pak Rupees amounting to **Rs. 4,000,000/-** (Rupees Four Million Only) in the form of a Call Deposit, Bank Draft or a Bank Guarantee issued by a scheduled bank of Pakistan, in favor of the Dow University of Health Sciences, Karachi.

15.2 The amount of bid security shall be The Pay order shall be, at the option of the bidder, in the form of Deposit at Call or a Bank Guarantee issued by a Scheduled Bank in Pakistan or from a foreign bank duly counter guaranteed by

a Scheduled Bank in Pakistan in favor of the Employer valid for a period 28 days beyond the Bid Validity date.

- 15.3 Any bid not accompanied by an acceptable Bid Security shall be rejected by the Employer as non-responsive.
- 15.4 The bid securities of unsuccessful bidders will be returned as promptly as possible, but not later than 28 days after the expiration of the period of Bid Validity.
- 15.5 The Bid Security of the successful bidder will be returned when the bidder has furnished the required Performance Security and signed the Contract Agreement.
- 15.6 The Bid Security may be forfeited:
 - (a) if the bidder withdraws his bid except as provided in Sub-Clause 22.1;
 - (b) if the bidder does not accept the correction of his Bid Price pursuant to Sub-Clause 27.2 hereof; or
 - (c) In the case of successful bidder, if he fails within the specified time limit to:
 - (i) furnish the required Performance Security; or
 - (ii) sign the Contract Agreement.

IB.16 Alternate Proposals by Bidder

- 16.1 Alternate Proposals by bidder are not invited. Bidder will only quote for the drawings and Design as provided in the Bidding Documents

IB.17 ERRORS, OMISSIONS & QUERIES:

- 17.2 (a) The bidder shall notify “the Employer” of any inconsistencies, errors and omissions found in the Bid Documents, prior to the Bid Opening Date. Withholding of any such information which will later materially affect the contract price during construction may be considered as sufficient grounds for rejection of the Bid.
- 17.2 (b) The DUHS, Karachi is not responsible for any verbal communications or instructions to the bidders or Acceptable of the Bid Documents.

IB.18 Format and Signing of Bid

- 18.1 Bidders are particularly directed that the amount entered on the Form of Bid shall be for performing the Contract strictly in accordance with the Bidding Documents.
- 18.2 All appendices to Bid are to be properly completed and signed and stamped.
- 18.3 No alteration is to be made in the Form of Bid nor in the Appendices thereto except in filling up the blanks as directed. If any such alterations be made or if these instructions be not fully complied with, the bid may be rejected.
- 18.4 The bid shall contain no alterations, omissions or additions, except to comply with instructions issued by the Employer, or as are necessary to correct errors made by the bidder, in which case such corrections shall be initialed by the person or persons signing the bid.
- 18.5 Bidders shall indicate in the space provided in the Form of Bid their full and Proper addresses at which notices may be legally served on them and to which all correspondence in connection with their bids and the Contract is to be sent. Bids shall be prepared and submitted on the form of “the Bid “provided. All blank spaces must

be filled in and completed form advance without interlineations or iteration of the original wording. Bids with incomplete and /or unsigned Form of Bid may be rejected/ considered Non Responsive. The bidder shall stamp and sign each page of Bid Documents for the purpose of identification and acknowledgement of acceptance thereof. The bids must conform in all respects to the Bid Documents.

D. SUBMISSION AND EVALUATION OF BIDS

19.1 Each bidder shall submit his bid online on SPPRA (EPADS) website. All bids shall be opened and evaluated in the manner prescribed in the Notice Inviting tenders or bidding Document.

19.2 ELIGIBILITY CRITERIA (MINIMUM MANDATORY REQUIREMENTS)

Bidding documents of this method shall contain the following eligibility criteria: (Following are minimum Mandatory requirement)

- i. Valid Registration with Pakistan Engineering Council (PEC) C-4 & above Category for the year 2026.
- ii. The firm should have specialized codes i.e. BC04, CE09, CE10, CE11(i), CE11(vii), CE11(ix), ME02, EE04.
- iii. Valid NTN / Income Tax Registration Certificate with online verification showing "Active Taxpayer" status (FBR).
- iv. Valid Sindh Sales Tax (SST-SRB) Registration Certificate with online verification showing "Active Taxpayer" status.
- v. Valid Electrical License of Government of Sindh for Electrical Works for concern Region must be provided.
- vi. Copy of CNIC of the authorized signatory of the bid.

- vii. The bidder must have done and successfully completed at least three (03) similar nature projects during the last five (05) years in the public / Private sector departments, either in Govt./Semi-Govt./Autonomous Bodies/Universities/Hospitals/Private Sector Organizations /Banking Sector.

A. At least one (01) out of three (03) Similar nature of works must having cost of **80 Million**

OR

B. At least two (02) out of three (03) Similar nature of works must having cost of **50 Million**

Following documentary evidences of each project with clearly mentioning tenure of contract must be provided for consideration: Contract Agreement or Workorders (2) Satisfactory Performance Certificates. Note: Agreement / Work Order(s) and Performance Certificate must be for the period at least 12 months. If the Original project period is more than 12 months then it would be considered a single project only. Extensions of project cannot be considered as a separate project.

- viii. Gross Average Annual Turnover in the last **Five (05)** financial years should not be less than **PKR 100 million** supported by Income Tax Returns (ITR – FBR) with demonstrated through audited statements.
- ix. Bio data of Engineering and Technical staff working with the firm along with CV's showing employment with the firm at least one Civil & one Mechanical Engineer employment with the firm along with same reflected in PEC License.
- x. Bidder must submit undertaking on 100/- legal stamp paper confirming he is not declared blacklisted by any procuring agency of Pakistan if proved blacklisted his bid security shall be forfeited.

IB.20 Deadline for Submission of Bids

- 201 (a) Each bidder shall submit his bid online on SPPRA (EPADS) website.
- (b) Bids with charges payable will not be accepted, nor will arrangements be undertaken to collect the bids from any delivery point other than that specified above. Bidders shall bear all expenses incurred in the preparation and delivery of bids. No claims will be entertained for refund of such expenses.
- 202 The Employer may, at his discretion, extend the deadline for submission of bids by issuing an amendment in accordance with Clause IB.9, in which case all rights and obligations of the Employer and the bidders previously subject to the original deadline will thereafter be subject to the deadline as extended.

IB.21 Late Bids

All bids must be uploaded on EPADS website before deadline.

IB.22 Modification, Substitution and Withdrawal of Bids

- 22.1 Any bidder may modify, substitute or withdraw his bid after bid submission provided that the modification, substitution or written notice of withdrawal is received by the Employer prior to the deadline for submission of bids.
- 22.2 No bid may be modified by a bidder after the deadline for submission of bids except in accordance with Sub-Clauses 22.1 and 27.2.
- 22.3 Withdrawal of a bid during the interval between the deadline for submission of bids and the expiration of the period of bid validity specified in the Form of Bid may result in forfeiture of the Bid Security in pursuance to Clause IB.15.

I. ONLINE BID OPENING AND EVALUATION

IB.23 Online Bid Opening

The Procuring Agency will open all bids Online through EPADS system, as per NIT date & time.

IB.24 Process to be Confidential

- 24.1 Information relating to the examination, clarification, evaluation and comparison of bid and recommendations for the award of a contract shall not be disclosed to bidders or any other person not officially concerned with such process. Any effort by a bidder to influence the Employer's processing of bids or award decisions may result in the rejection of such bidder's bid.

IB.25 Clarification of Bids

- 25.1 To assist in the examination, evaluation and comparison of bids, the Employer may, at his discretion, ask any bidder for clarification of his bid, including breakdowns of unit rates. The request for clarification and the response shall be in writing but no change in the price or substance of the bid shall be sought, offered or permitted except as required to confirm the correction of arithmetic errors discovered by the Employer in the evaluation of the bids in accordance with Clause IB.28.

IB.26 Examination of Bids and Determination of Responsiveness

- 26.1 Prior to the detailed evaluation of bids, the Employer will determine whether each bid is substantially responsive to the requirements of the Bidding Documents.
- 26.2 A substantially responsive bid is one which (i) meets the eligibility criteria; (i) has been properly signed; (iii) is accompanied by the required Bid Security; and (iv) conforms to all the terms, conditions and specifications of the Bidding Documents, without material deviation or reservation. A material deviation or reservation is one (i) which affect in any substantial way the scope, quality or performance of the Works; (ii) which limits in any substantial way, inconsistent with the Bidding Documents, the Employer's rights or the bidder's obligations under the Contract; or (iii) adoption/rectification whereof would affect unfairly the competitive position of other bidders presenting substantially responsive bids.
- 26.3 If a bid is not substantially responsive, it will be rejected by the Employer, and may not subsequently be made responsive by correction or withdrawal of the non-conforming deviation or reservation.

IB.27 Correction of Errors

- 27.1 Bids determined to be substantially responsive will be checked by the Employer for any arithmetic errors. Errors will be corrected by the Employer as follows:
 - (a) where there is a discrepancy between the amounts in figures and in words, the amount in words will govern; and
 - (b) where there is a discrepancy between the unit rate and the line item total resulting from multiplying the unit rate by the quantity, the unit rate as quoted will govern, unless in the opinion of the Employer there is an obviously gross misplacement of the decimal point in the unit rate, in which case the line item total as quoted will govern and the unit rate will be corrected.
- 27.2 The amount stated in the Form of Bid will be adjusted by the Employer in accordance with the above procedure for the correction of errors and with the concurrence of the bidder, shall be considered as binding upon the bidder. If the bidder does not accept the corrected Bid Price, his Bid will be rejected, and the Bid Security shall be forfeited in accordance with Sub- Clause 15.6(b) hereof.

IB.28 Evaluation and Comparison of Bids

- 28.1 The Employer will evaluate and compare only the Bids determined to be substantially responsive in accordance with Clause IB.26.
- 28.2 In evaluating the Bids, the Employer will determine for each Bid the evaluated Bid Price by adjusting the Bid Price as follows:
 - (a) making any correction for errors pursuant to Clause IB.27;
 - (b) excluding Provisional Sums and the provision, if any, for contingencies in the Summary Bill of Quantities, but including competitively priced Day work; and
 - (c) Making an appropriate adjustment for any other acceptable variation or deviation.
- 28.3 The estimated effect of the price adjustment provisions of the Conditions of Contract, applied over the period of execution of the Contract, shall not be considered in Bid evaluation.

- 28.4 If the Bid of the successful bidder is seriously unbalanced in relation to the Employer's estimate of the cost of work to be performed under the Contract, the Employer may require the bidder to produce detailed price analyses for any or all items of the Bill of Quantities to demonstrate the internal consistency of those prices with the construction methods and schedule proposed. After evaluation of the price analyses, the Employer may require that the amount of the Performance Security set forth in Clause IB.32 be increased at the expense of the successful bidder to a level sufficient to protect the Employer against financial loss in the event of default of the successful bidder under the Contract.
- 28.5 A bid with highly inflated or unworkable rates of any BOQ items may be considered non-conforming and rejected. The Employer may also disqualify such bidder from participating in the subsequent bids who submits such unbalanced and/or unworkable rates of major items of work.

J. AWARD OF CONTRACT

IB.29 Award

- 29.1 Subject to Clauses IB.30 and IB.34, the Employer will award the Contract to the bidder whose bid has been determined to be substantially responsive to the Bidding Documents and who has offered the lowest evaluated Bid Price, provided that such bidder has been determined to be eligible in accordance with the provisions of Clause IB.3 and qualify pursuant to Sub-Clause IB 29.2.
- 29.2 The Employer, at any stage of the bid evaluation, having credible reasons for or *prima facie* evidence of any defect in supplier's or contractor's capacities, may require the suppliers or contractors to provide information concerning their professional, technical, financial, legal or managerial competence whether already pre-qualified or not:

Provided that such qualification shall only be laid down after recording reasons therefor in writing. They shall form part of the records of that bid evaluation report.

IB.30 Employer's Right to accept any Bid and to reject any or all Bids

- 30.1 Notwithstanding Clause IB.29, the Employer reserves the right to accept or reject any Bid, and to annul the bidding process and reject all bids, at any time prior to award of Contract, without thereby incurring any liability to the affected bidders or any obligation except that the grounds for rejection of all bids shall upon request be communicated to any bidder who submitted a bid, without justification of grounds. Rejection of all bids shall be notified to all bidders promptly.

IB.31 Notification of Award

- 31.1 Prior to expiration of the period of bid validity prescribed by the Employer, the Employer will notify the successful bidder in writing ("Letter of Acceptance") that his Bid has been accepted. This letter shall name the sum which the Employer will pay the Contractor in consideration of the execution and completion of the Works by the Contractor as prescribed by the Contract (hereinafter and in the Conditions of Contract called the "Contract Price").
- 31.2 No Negotiation with the bidder having evaluated as lowest responsive or any other bidder shall be permitted, however, Employer may have clarification meetings to get clarify any item in the bid evaluation report.

- 31.3 The notification of award and its acceptance by the bidder will constitute the formation of the Contract, binding the Employer and the bidder till signing of the formal Contract Agreement.
- 31.4 Upon furnishing by the successful bidder of a Performance Security, the Employer will promptly notify the other bidders that their Bids have been unsuccessful and return their bid securities.

IB.32 Performance Security

- 32.1 The performance security shall be equal to an amount of 10% of the contract Price stated in the Letter of Acceptance. Such Security shall be in the Form of Pay order/irrevocable Bank Guarantee from any scheduled Bank of Pakistan acceptable to the Employer in favor of Dow University of Health Sciences, Karachi. The performance security will be valid for a period (up to the completion of the Project) after the date of issue of Defect Liability Certificate.
- 32.2 Failure of the successful bidder to comply with the requirements of Sub-Clause IB.32.1 or Clauses IB.33 or IB.35 shall constitute sufficient grounds for the annulment of the award and forfeiture of the Bid Security.

IB.33 Signing of Contract Agreement

- 33.1 Within 14 days from the date of furnishing of acceptable Performance Security under the Conditions of Contract, the Employer will send the successful bidder the Contract Agreement in the form provided in the Bidding Documents, incorporating all agreements between the parties.
- 33.2 The formal Agreement between the Employer and the successful bidder shall be executed within 14 days of the receipt of the Contract Agreement by the successful bidder from the Employer.

IB.34 General Performance of the Bidders

The Employer reserves the right to obtain information regarding performance of the bidders on their previously awarded contracts/works. The Employer may in case of consistent poor performance of any Bidder as reported by the employers of the previously awarded contracts, interilic, reject his bid and/or refer the case to the Pakistan Engineering Council (PEC). Upon such reference, PEC in accordance with its rules, procedures and relevant laws of the land take such action as may be deemed appropriate under the circumstances of the case including black listing of such Bidder and debarring him from participation in future bidding for similar works.

IB.35 Integrity Pact

The Bidder shall sign and stamp the Integrity Pact provided at Appendix-C to Bid in the Bidding Documents for all Federal Government procurement contracts exceeding Rupees ten million. Failure to provide such Integrity Pact shall make the bidder non-responsive.

IB.36 Instructions not Part of Contract

Bids shall be prepared and submitted in accordance with these Instructions which are provided to assist bidders in preparing their bids, and do not constitute part of the Bid or the Contract Documents.

BIDDING DATA

[NOTES ON BIDDING DATA]

This Section is intended to assist the Employer in providing the specific information in relation to corresponding clauses in Instructions to Bidders and should be prepared to suit each individual contract.

The Employer should provide in the Bidding Data information and requirements specific to the circumstances of the Employer, the processing of the Bid, the applicable rules regarding Bid Price and currency, and the Bid evaluation criteria that will apply to the Bids. In preparing this section, the following aspects should be checked:

- (a) Information that specifies and complements the provisions of section; Instruction to Bidders must be incorporated.
- (b) Amendments and/or supplements, if any, to the provisions of Instructions to Bidders, necessitated by the circumstances of each individual contract, can be introduced only in this section since Instructions to Bidders will remain unchanged.]

Bidding Data

1.1 Name and address of the Employer:

The Employer is Dow University of Health Sciences, Karachi

Name of the Project & Summary of the Works:

MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI.

The work involves execution of misc. maintenance & repair, and allied Works in accordance with the Specifications, Bill of Quantities and Instructions of the Client/ Consultant with special emphasis on Quantity and Quality control ethics.

IB.2 Source of Funds:

The Employer has arranged funds from University Development Working Party (UDWP) and it is intended that part of the proceeds of this will be applied to eligible payments under the Contract for which these Bidding Documents are issued.

IB.3 Eligible Bidders

As notified in NIT and Bidding Document.

IB.8.1 Time limit for clarification:

The Employer will respond to any request for clarification which he receives earlier than (07) Seven Days prior to the deadline for submission of bids

IB.10 Bid language:

The bid and all correspondence and documents related to the bid exchanged by a bidder and the Employer shall be in the English Language.

IB.11.1(c) Furnish Technical Proposal:

The bidder to submit a technical proposal in sufficient detail to demonstrate the adequacy of the bid in meeting requirements for timely completion of the Works and taking into account the various appendices to Bid specified into instructions to Bidder.

IB.13.1 Currencies of Bid and Payment

The unit rates and the prices shall be quoted by the bidder entirely in Pak rupees. The Employer shall make payment only in Pak Rupees and no foreign currency payments are admissible. A bidder expecting to incur expenditures in other currencies for inputs to the Works supplied from outside the Employer's country shall bear all the costs and risks for arranging the requirements of such currencies through his own resources.

IB.14.1 Period of Bid Validity:

Bids shall remain valid for the **90** Days after the date of bid opening.

IB.18.4 Bid must be submitted on EPADS website

19.2(a) Employer's address for the purpose of purchase tender & submission of bid security.

Dow University of Health Sciences (DMC Campus),
Facilitator / Coordinator, Procurement Committee, Admin Block 5th Floor
DMC Campus, Baba-e-Urdu Road near Civil Hospital Karachi.
Phone No. 021-38771000 Extension 5820, 5907

IB. 20.1(a) Deadline for submission of bids:

As notified in “Invitation to Bids”

IB. 23.1 Time and Date of Bid opening:

As notified in “Invitation to Bids”

I.B.32.1 Standard form and amount of Performance Security acceptable to the Employer:

The performance security shall be equal to an amount of **10%** of the contract Price stated in the Letter of Acceptance. Such Security shall be in the Form of unconditional, irrevocable Bank Guarantee from any scheduled Bank of Pakistan acceptable to the Employer in favor of Dow University of Health Sciences. The performance security will be valid for a period (up to the completion of the Project) after the date of issue of Defect Liability Certificate.

CONTRACT / BIDDING DATA

The following specific data for the works to be tendered shall complement, amend, or supplement the provisions in the Instructions to Bidders. Wherever there is a conflict, the provisions herein shall prevail over those in the Instructions to Bidders.

Instructions to Bidders

Clause Reference

1.1.1 Name and address of the procuring agency:

Office of the Director Works & Services Department (DMC Campus)
Bab-e- Urdu Road near Civil Hospital DUHS,
Phone: (92-21)38771000 (Ext: 5820)

1.2 Name of the Project and Summary of the works:

**MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES,
OJHA CAMPUS, DUHS, KARACHI.**

8.1 Time limit for clarification:

07 (Seven) working days prior to last date of submission

10.1 Bid language:

English

11.1 (a) Prequalification Information to be updated (where applicable):

Not applicable

11.1 (b) Furnish Company Profile for Single Stage One Envelope:

32.3 Stamp duty

0.35% will be paid by successful bidder as stamp duty.

**FORM OF BID
AND
APPENDICES TO BID**

FORM OF BID

Bid Reference No. _____
 (Name of Contract/Works)

To:

Gentleman, _____

1. Having examined the Bidding Documents including Instructions to Bidders, Bidding Data, Conditions of Contract, Specifications, Drawings and Bill of Quantities and Addenda Nos. _____ for the execution of the above-named Works, we, the undersigned, offer to execute and complete such Works and remedy any defects therein in conformity with the Conditions of Contract, Specifications, Drawings, Bill of Quantities and Addenda for the sum of Rs. _____ (Rupees _____) or such other sum as may be ascertained in accordance with the said conditions.
2. We understand that all the Appendices attached hereto form part of this Bid.
3. As security for due performance of the undertakings and obligations of this Bid, we submit herewith a Bid Security in the amount of Rupees _____ (Rs. _____) drawn in your favor or made payable to you and valid for a period of _____ days beginning from the date Bids are opened.
4. We undertake, if our Bid is accepted, to commence the Works and to complete the whole of the Works comprised in the Contract within the time stated in Appendix-A to Bid.
5. We agree to abide by this Bid for the period of _____ days from the date fixed for receiving the same and it shall remain binding upon us and may be accepted at any time before the expiration of that period.
6. Unless and until a formal Agreement is prepared and executed, this Bid, together with your written acceptance thereof, shall constitute a binding contract between us.
7. We do hereby declare that the Bid is made without any collusion, comparison of figures or arrangement with any other bidder for the Works.

8. We understand that you are not bound to accept the lowest or any Bid you may receive.

Dated this _____ day of _____ 2026

Signature: _____

in the capacity of _____ duly authorized to sign Bids for and on behalf of

(Name of
Bidder in Block Capitals) (Seal)

Address: _____

Witness:

Signature: _____

Name: _____

Address. _____

Occupation

BIDDING DATA

The following specific data for the works to be procured shall complement, supplement or amend the provisions in the terms & Conditions of bidding documents. Whenever there is a conflict, the provisions herein shall prevail over those in terms & conditions of the bidding documents.

Special Stipulations - Clause Conditions of Contract

1	Name of Procuring Agency:	Dow University of Health Sciences
2	Brief Description of Works:	Maintenance & Repair Work of Dow University of Health Sciences, Ojha Campus, DUHS, Karachi.
3	Tender fee:	Rs.5,000/- (Five Thousand Rupees Only) Non-Refundable in Shape of Pay Order / Demand Draft in favor of Dow University of Health Sciences, Karachi.
4	Submission of Tender fee & Bid Security Address:	Dow University of Health Sciences (DMC Campus), Facilitator / Coordinator, Procurement Committee, Admin Block 5 th Floor DMC Campus, Baba-e-Urdu Road near Civil Hospital Karachi. Phone No. 021-38771000 Extension 5820, 5907
5	Amount of Bid Security	The amount of bid security shall be amounting to Rs. 4,000,000/- (Rupees Four Million Only) in the form of a Call Deposit, Bank Draft or a Bank Guarantee issued by a scheduled bank of Pakistan, in favor of the Dow University of Health Sciences, Karachi.
6	Amount of Performance Security	The amount of Performance security shall not be less than 10% of the total contract value in the form of a Call Deposit, Bank Draft or a Bank Guarantee issued by a scheduled bank of Pakistan, in favor of the Dow University of Health Sciences, Karachi. Note: when billing start 5% Retention Money deducted from 1 st bill and the rest of 5% Security Deposit deducted from every bill and the submitted 10% Performance Security of Contractor shall be returned after deduction from 1 st bill.
7	Percentage of Retention Money	5% of the amount of the Interim / Running Payment Certificate.
8	Period of Bid Validity (Days)	90 Days
9	Time and Date of Bid Opening	As per NIT (Online through EPADS at https://eprocure.gov.pk/)
10	Deadline for Submission of Bid along with time:	As per NIT (Online through EPADS at https://eprocure.gov.pk/)
11	Currency of Bid:	Pakistani Rupees.
10	Time for furnishing Program	Within 14 Days from the date of receipt of Letter of Acceptance.
12	Time for Commencement	Within 07 days from the date of receipt of Engineer's Notice to Commence.
13	Period of Contract: (Time for Completion of Works)	The initial contract shall be signed for a period of twelve (12) months. It may be extended till the finalization of new tender on same rates, terms & conditions or renewed once for an additional period of twelve (12) months, subject to: (i) the Contractor's satisfactory performance during the preceding contract period, (ii) a pre-renewal performance evaluation conducted by DUHS, and (iii) mutual written consent of both parties. All terms and conditions of the contract shall remain unchanged during the renewal period.
14	Amount of Liquidity Damages/Delay Damages /Penalties	One tenth of one percent (0.10%) for each day of delay in completion of the Works subject to a maximum of 10% of Contract Price and after that termination of contract after 07 days' Notice.
15	Defects Liability Period	180 days from the effective date of Taking Over Completion Certificate.
16	Alternate / Conditional Bid:	Not Allowed
17	Joint Venture / Consortium Bid:	Not Allowed

BILL OF QUANTITIES

A. Preamble

1. The Bill of Quantities shall be read in conjunction with the Conditions of Contract, Specifications and Drawings.
2. The quantities given in the Bill of Quantities are estimated and provisional, and are given to provide a common basis for bidding. The basis of payment will be the actual quantities of work executed and measured by the Contractor and verified by the Engineer and valued at the rates and prices entered in the priced Bill of Quantities, where applicable, and otherwise at such rates and prices as the Engineer may fix as per the Contract.
3. The rates and prices entered in the priced Bill of Quantities shall, except insofar as it is otherwise provided under the Contract include all costs of Contractor's plant, labor, supervision, materials, execution, insurance, profit, taxes and duties, together with all general risks, liabilities and obligations set out or implied in the Contract. Furthermore, all duties, taxes and other levies payable by the Contractor under the Contract, or for any other cause, as on the date 28 days prior to deadline for submission of Bids, shall be included in the rates and prices and the total Bid Price submitted by the Bidder.
4. A rate or price shall be entered against each item in the priced Bill of Quantities, whether quantities are stated or not. The cost of items against which the Contractor will have failed to enter a rate or price shall be deemed to be covered by other rates and prices entered in the Bill of Quantities.
5. The whole cost of complying with the provisions of the Contract shall be included in the items provided in the priced Bill of Quantities, and where no items are provided, the cost shall be deemed to be distributed among the rates and prices entered for the related items of the Works.
6. General directions and description of work and materials are not necessarily repeated nor summarized in the Bill of Quantities. References to the relevant sections of the Bidding Documents shall be made before entering prices against each item in the priced Bill of Quantities.
7. Provisional sums included and so designated in the Bill of Quantities shall be expended in whole or in part at the direction and discretion of the Engineer in accordance with Sub-Clause 58.2 of Part I, General Conditions of Contract.

BILL OF QUANTITIES

B. Work Items

1. The Bill of Quantities contains the following Bills and Schedule:
(by way of example)

Bill No. 1	-
Bill No. 2	-
Bill No. 3	-
Bill No. 4	-
Bill No. 5	-
Day work Schedule	
Summary Bill of Quantities	

2. Bidders shall price the Bill of Quantities in Pakistani Rupees only.

BILL OF QUANTITIES

Bill No.1 _____

	Description	Unit	Quantity	Rate		Amount
				Rupees in figures	Rupees in Word	
1	2	3	4	5		6
101						
102						
103						
104						
105						
106						
Total for Bill No.1 (Carried Forward to Summary Page) _____.						

BILL OF QUANTITIES

C. Day work

Schedule General

1. Reference is made to Sub-Clause 52.4 of the General Conditions of Contract Part-I. Work shall not be executed on a day work basis except by written order of the Engineer. Bidders shall enter basic rates for Day work items in the Schedules, which rates shall apply to any quantity of Day work ordered by the Engineer. Nominal quantities have been indicated against each item of Day work, and the extended total for Day work shall be carried forward to the Bid Price.

Day work Labor

2. In calculating payments due to the Contractor for the execution of Day work, the actual time of classes of labor directly doing the Day work ordered by the Engineer and for which they are competent to perform will be measured excluding meal breaks and rest periods. The time of gingers (charge hands) actually doing work with the gang will also be measured but not the time of foreman or other supervisory personnel.
3. The Contractor shall be entitled to payment in respect of the total time that labor is employed on Day work, calculated at the basic rates entered by him in the Schedule of Day work Rates for labor together with an additional percentage, payment on basic rates representing the Contractor's profit, overheads, etc., as described below:
 - a) the basic rates for labor shall cover all direct costs to the Contractor, including (but not limited to) the amount of wages paid to such labor, transportation time, overtime, subsistence allowances and any sums paid to or on behalf of such labor for social benefits in accordance with Pakistan law. The basic rates will be payable in local currency only; and
 - b) the additional percentage payment to be quoted by the Bidder and applied to costs incurred under (a) above shall be deemed to cover the Contractor's profit, overheads, superintendence, liabilities and insurances and allowances to labor timekeeping and clerical and office work; the use of consumable stores, water, lighting and power; the use and repair of staging, scaffolding, workshops and stores, portable power tools, manual plant and tools; supervision by the Contractor's staff, foremen and other supervisory personnel; and charges incidental to the foregoing.

Day work Material

4. The Contractor shall be entitled to payment in respect of materials used for Day work (except for materials for which the cost is included in the percentage addition to labor costs as detailed heretofore), at the basic rates entered by him in the Schedule of Day work Rates for materials together with an additional percentage payment on the basic rates to cover overhead charges and profit, as follows:
 - a) The basic rates for materials shall be calculated on the basis of the invoiced price, freight, insurance, handling expenses, damage, losses, etc., and shall provide for delivery to store for stockpiling at the site. The basic rates shall be stated in local currency but payment will be made in the currency or currencies expended upon presentation of supporting documentation;
 - b) the additional percentage payment shall be quoted by the Bidder and applied to the equivalent local currency payments made under Sub-Para(a) above; and
 - c) the cost of hauling materials used on work ordered to be carried out as Day work from the store or stockpile on the site to the place where it is to be used will be paid in accordance with the terms for Labor and Constructional Plant in this Schedule.

(INTEGRITY PACT)
DECLARATION OF FEES, COMISSION AND BROKERAGE ETC.
PAYABLE BY CONTRACTORS.

Contract No. _____ Dated _____

Contract Value: _____

Contract Title: _____

(Name of Contractor) hereby declares that it has not obtained or induce the procurement of any contract, right, interest, privilege or other obligation or benefit from government of Sindh (GoS) or any administrative subdivision or agency thereof any other entity owned or controlled by it (GoS) through any corrupt business practice.

Without limiting the generality of the foregoing (Name of contractor) represents and warrants that it has fully declared the brokerage, commission, fees etc. paid or payable to anyone and not given or agreed to give and shall not give or agree to give to anyone within or outside Pakistan – either directly or indirectly through any natural judicial person, including its affiliate, agent, associate, broker, consultant, director, promoter, shareholder, sponsor or subsidiary, any commission gratification, bribe, finder's fee or kickback, whether described as consultation fee or otherwise, with the object of obtaining or including the procurement of a contract, right, interest privilege or other obligation or benefits in whatsoever from, procuring agency (PA) except that has been expressly declared pursuant hereto.

(Name of Contractor) accepts full responsibility and strict liability that it has made and will make full disclosure of all agreements and arrangements with all person in respect of or related to the transaction with PA and has not taken any action or will not take any action to circumvent the above declaration, representation or warranty. (Name of Contractor) accepts full responsibilities and strict liability for making any false declaration, not making full disclosure, misrepresenting facts or taking any action likely to defeat the purpose of declaration, representation and warranty. It agrees that any contract, right, interest, privilege or other obligation or benefit obtained or procured as aforesaid shall, without prejudice to any rights and remedies available to PA under any law, contract or other instrument, be voidable at the option of PA.

Notwithstanding any rights and remedies exercised by PA in this regards, (Name of supplier/Contractor/Consultant) agrees to indemnify PA for any loss or damage incurred by it on account of its corrupt business practices and further pay compensation to PA in an amount equivalent to ten time the sum of any commission, gratification, bribe, finder's fee or kickback given by (name of contractor) as aforesaid for purpose of obtaining or including the procurement of any contract, right, interest, privilege or other obligation or benefit in whatsoever form from PA.

(PROCURING AGENCY)

(CONTRACTOR)

FORMS

**BID SECURITY
PERFORMANCE SECURITY
CONTRACT AGREEMENT**

BID SECURITY
(Bank Guarantee)

Security Executed on _____
(Date)

Name of Surety (Bank) with Address: _____
(Scheduled Bank in Pakistan)

Name of Principal (Bidder) with Address _____

Penal Sum of Security Rupees. _____ (Rs. _____)

Bid Reference No. _____
KNOW ALL MEN BY THESE PRESENTS, that in pursuance of the terms of the Bid and at the request of the said Principal (Bidder) we, the Surety above named, are held and firmly bound unto _____

(hereinafter called the 'Employer') in the sum stated above for the payment of which sum well and truly to be made, we bind ourselves, our heirs, executors, administrators and successors, jointly and severally, firmly by these presents.

THE CONDITION OF THIS OBLIGATION IS SUCH, that whereas the Bidder has submitted the accompanying Bid dated _____ for Bid No. _____ for _____ (Particulars of Bid) to the said Employer; and

WHEREAS, the Employer has required as a condition for considering said Bid that the Bidder furnishes a Bid Security in the above said sum from a Scheduled Bank in Pakistan or from a foreign bank duly counter-guaranteed by a Scheduled Bank in Pakistan, to the Employer, conditioned as under:

- (1) that the Bid Security shall remain in force up to and including the date 28 days after the deadline for validity of bids as stated in the Instructions to Bidders or as it may be extended by the Employer, notice of which extension(s) to the Surety is hereby waived;
- (2) that the Bid Security of unsuccessful Bidders will be returned by the Employer after expiry of its validity or upon signing of the Contract Agreement; and
- (3) that in the event of failure of the successful Bidder to execute the proposed Contract Agreement for such work and furnish the required Performance Security, the entire said sum be paid immediately to the said Employer pursuant to Clause 15.6 of the Instruction to Bidders for the successful Bidder's failure to perform.

NOW THEREFORE, if the successful Bidder shall, within the period specified therefor, on the prescribed form presented to him for signature enter into a formal Contract with the said Employer in accordance with his Bid as accepted and furnish within twenty eight (28) days of his being requested to do so, a Performance Security with good and sufficient surety, as may be required, upon the form prescribed by the said Employer for the faithful performance and proper fulfilment of the said Contract or in the event of non-withdrawal of the said Bid within the time specified for its validity then this obligation shall be void and of no effect, but otherwise to remain in full force and effect.

PROVIDED THAT the Surety shall forthwith pay the Employer the said sum upon first written demand of the Employer (without cavil or argument) and without requiring the Employer to prove or to show grounds or reasons for such demand, notice of which shall be sent by the Employer by registered post duly addressed to the Surety at its address given above.

PROVIDED ALSO THAT the Employer shall be the sole and final judge for deciding whether the Principal (Bidder) has duly performed his obligations to sign the Contract Agreement and to furnish the requisite Performance Security within the time stated above, or has defaulted in fulfilling said requirements and the Surety shall pay without objection the said sum upon demand from the Employer forthwith and without any reference to the Principal (Bidder) or any other person.

IN WITNESS WHEREOF, the above bounden Surety has executed the instrument under its seal on the date indicated above, the name and seal of the Surety being hereto affixed and these presents duly signed by its undersigned representative pursuant to authority of its governing body.

SURETY (Bank)

WITNESS:

1. _____

Corporate Secretary (Seal)

2. _____

Name, Title & Address

Signature _____

Name _____

Title _____

Corporate Guarantor (Seal)

FORM OF PERFORMANCE SECURITY
(Bank Guarantee)

Guarantee No. _____
 Executed on _____
 Expiry date _____

[Letter by the Guarantor to the Employer]

Name of Guarantor (Bank) with address: _____
 (Scheduled Bank in Pakistan)

Name of Principal (Contractor) with address: _____

Penal Sum of Security (express in words and figures) _____

Letter of Acceptance No. _____ Dated _____

KNOW ALL MEN BY THESE PRESENTS, that in pursuance of the terms of the Bidding Documents and above said Letter of Acceptance (hereinafter called the Documents) and at the request of the said Principal we, the Guarantor above named, are held and firmly bound unto the _____ (hereinafter called the Employer) in the penal sum of the amount stated above for the payment of which sum well and truly to be made to the said Employer, we bind ourselves, our heirs, executors, administrators and successors, jointly and severally, firmly by these presents.

THE CONDITION OF THIS OBLIGATION IS SUCH, that whereas the Principal has accepted the Employer's above said Letter of Acceptance for _____
 _____ (Name of Contract) for the _____
 _____ (Name of Project).

NOW THEREFORE, if the Principal (Contractor) shall well and truly perform and fulfill all the undertakings, covenants, terms and conditions of the said Documents during the original terms of the said Documents and any extensions thereof that may be granted by the Employer, with or without notice to the Guarantor, which notice is, hereby, waived and shall also well and truly perform and fulfill all the undertakings, covenants terms and conditions of the Contract and of any and all modifications of said Documents that may hereafter be made, notice of which modifications to the Guarantor being hereby waived, then, this obligation to be void; otherwise to remain in full force and virtue till all requirements of Clause 49, Defects Liability, of Conditions of Contract are fulfilled.

Our total liability under this Guarantee is limited to the sum stated above and it is a condition of any liability attaching to us under this Guarantee that the claim for payment in writing shall be received by us within the validity period of this Guarantee, failing which we shall be discharged of our liability, if any, under this Guarantee.

We, _____ (the Guarantor), waiving all objections and defenses under the Contract, do hereby irrevocably and independently guarantee to pay to the Employer without delay upon the Employer's first written demand without cavil or arguments and without requiring the Employer to prove or to show grounds or reasons for such demand any sum or sums up to the amount stated above, against the Employer's written declaration that the Principal has refused or failed to perform the obligations under the Contract which payment will be effected by the Guarantor to Employer's designated Bank & Account Number.

PROVIDED ALSO THAT the Employer shall be the sole and final judge for deciding whether the Principal (Contractor) has duly performed his obligations under the Contract or has defaulted in fulfilling said obligations and the Guarantor shall pay without objection any sum or sums up to the amount stated above upon first written demand from the Employer forthwith and without any reference to the Principal or any other person.

IN WITNESS WHEREOF, the above-bounden Guarantor has executed this Instrument under its seal on the date indicated above, the name and corporate seal of the Guarantor being hereto affixed and these presents duly signed by its undersigned representative, pursuant to authority of its governing body.

Guarantor (Bank)

Witness:

1. _____

Signature _____

Corporate Secretary (Seal)

Name _____

Title _____

2. _____

Name, Title & Address

Corporate Guarantor (Seal)

FORM OF CONTRACT AGREEMENT

THIS CONTRACT AGREEMENT (hereinafter called the "Agreement") made on the _____ day of _____ (month) 2026 between

(hereafter called the "Employer") of the one part and _____ (hereafter called the "Contractor") of the other part.

WHEREAS the Employer is desirous that certain Works, viz. _____ should be executed by the Contractor and has accepted a Bid by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

NOW this Agreement witnessed as follows:

1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
2. The following documents after incorporating addenda, if any, except those parts relating to Instructions to Bidders shall be deemed to form and be read and construed as part of this Agreement, viz:
 - (a) The Contract Agreement;
 - (b) The Letter of Acceptance;
 - (c) The completed Form of Bid;
 - (d) Special Stipulations (Appendix-A to Bid);
 - (e) The Particular Conditions of Contract – Part II;
 - (f) The General Conditions – Part I;
 - (g) The priced Bill of Quantities (Appendix-B to Bid);
 - (h) The completed Appendices to Bid (B, C, E to L);
 - (i) The Drawings;
 - (j) The Specifications.
 - (k) _____ (any other)
3. In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the Works and remedy defects therein in conformity and in all respects with the provisions of the Contract.
4. The Employer hereby covenants to pay the Contractor, in consideration of the execution and completion of the Works as per provisions of the Contract, the Contract Price or such other sum as may become payable under the provisions of the Contract at the times and in the manner prescribed by the Contract.

IN WITNESS WHEREOF the parties hereto have caused this Agreement to be executed on the day, month and year first before written in accordance with their respective laws.

Signature of the Contactor

(Seal)

Signature of Employer

(Seal)

Signed, Sealed and Delivered in the presence of:

Witness:

(Name, Title and Address)

Witness:

(Name, Title and Address)

BILL OF QUANTITIES

MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI.
SUMMARY OF COST

Sr.#.	Description	Amount (Rs.)
	Part-A (Schedule Items)	
1	Schedule Items (Civil work)	61,108,141.37
	Premium (Above / Below)	
	Total of Civil Schedule work	
2	Schedule Items (Plumbing Work)	4,166,366.00
	Premium (Above / Below)	
	Total of Plumbing Scheduled work	
3	Schedule Items (Electrical Work)	2,970,319.33
	Premium (Above / Below)	
	Total of Electrical Scheduled work	
	Total Amount of Schedule work – (A)	
	Part-B (Schedule Items)	
1	Non-Schedule Items (Civil Work)	
2	Non-Schedule Items (Plumbing Work)	
3	Non-Schedule Items (Electrical Work)	
	Total Amount of Non-Schedule work - (B)	
	Total Amount of Schedule & Non-Schedule work (A+B) Rs.	
	SRB Tax 15%	
	Grand Total Amount (Rs.)	

 Contractor Sign/Stamp

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-A (Schedule Items)				
	Schedule Items (Civil Work)				
1	Dismantling cement block masonry. CSR-2024, Vol-III, Part-I, Ch-2, It # 14, Pg-19.	Cft	4,854.00	50.70	246,097.80
2	Dismantling cement concrete plain 1: 2: 4 CSR-2024, Vol-III, Part-I, Ch-2, It # 19 (c), Pg-20.	Cft	1,295.00	133.08	172,338.60
3	Dismantling glazed or encaustic tiles etc. CSR-2024, Vol-III, Part-I, Ch-2, It # 55, Pg-22.	Sft	6,585.00	31.19	205,386.15
5	Removing cement or lime plaster. CSR-2024, Vol-III, Part-I, Ch-2, It # 53, Pg-22.	Sft	40,824.00	5.39	220,041.36
6	Excavation for pipe line in trenches, and pits in soft soils i/c trimming and dressing sides to true alignment and shape leveling of beds of trenches to correct level and grade, cutting joint holes and disposal of surplus earth within a one chain as directed by Engineer Incharge. CSR-2024, Vol-III, Part-II, (PHEW) Ch-II, It # A-1, Pg-148	%oCft	12,208.00	18,288.00	223,259.90
7	Removing door with chowket. CSR-2024, Vol-III, Part-I, Ch-2, It # 33 (a), Pg-21	P.No.	56.00	574.26	32,158.56
8	Cement concrete plain including placing compacting, finishing and curing, complete (including screening and washing at stone aggregate without shuttering). CSR-2024, Vol-III, Part-I, Ch-2, It # 5, Pg-24				
A	Ratio. 1:2 :4 (Item No.5/f)	Cft	2592.00	443.54	1,149,655.68
B	Ratio. 1:3:6 (Item No.5/h)	Cft	324.00	388.67	125,929.08
C	Ratio. 1:4:8 (Item No.5/i)	Cft	324.00	348.83	113,020.92
9	Reinforced cement concrete work including all labour and material except the cost of steel reinforcement and its labour for bending and binding which will be paid separately. This rate also includes all kinds of Mtrs moulds, lifting, centering, shuttering and curing. (including screening and washing of shingle.) R.C.C work in roof slab, beams, column, rafts, lintels and other structural laid in situ or precast laid in position complete in all respects (i) Ratio 1 : 2: 4 90 Lbs of cement, 2 Cft sand and 4 Cft shingle 1/8" to 3/4" gauge CSR-2024, Vol-III, Part-I, Ch-4, It # 6-a (i), Pg-25	Cft	1000.00	717.59	717,590.00

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
10	Fabrication of defoMtred steel reinforcement for cement concrete including cutting, bending, laying in position, making joints and fastenings including cost of binding wire (also includes removal of rust from bars.) a) DefoMtred bar i) Grade-60 CSR-2024, Vol-III, Part-I, Ch-4, It # 8-a (i), Pg-26	Cwt	30.42	18,934.02	575,989.58
11	Providing & fixing cement paving blocks flooring having size of 197 x 97 x 60 (mm) of city /quddra / cobble shape with pigmented, having strength b/w 5000 psi to 8500 psi i/c filling the joints with hill sand over a bed of 2" thick hill sand or stone dust and laying and compacting in specified manner/ pattern and design etc complete. (Pigmented) (PSI 5000 to 8500e / Tameer Works or Envicrete/Hubcrete Equivalent manufacturer) CSR-2024, Vol-III, Part-I, Ch-8, It # 68, Pg-50	Sft	44,051.00	211.54	9,318,548.54
12	Providing & fixing Precast Edge Block 3750 PSI Industrial Made Size 6 inches thick x 12 inches long x 18 inches high including the cost of Cartage, excavation, foMtr Work for haunching, 1450 PSI lean concrete, 2250 PSI concrete for haunching, 1:4 cement sand mortor. Envicrete /Hubcrete equivalent manufacture CSR-2024, Vol-III, Part-IV, Ch-39, It # 14, Pg-221	Rft	500.00	678.38	339,190.00
13	Cement plaster 1:5 upto 12' height. Upto 20 ft (6.10 metre) height (i) 3/4" thick CSR-2024, Vol-III, Part-I, Ch-9, It # 12 (c), Pg-52	Sft	38,892.00	52.01	2,022,772.92
14	Providing and laying thick topping of cement concrete (1:2:4) including Surface finishing and dividing into panels: (i) 3" Thick CSR-2024, Vol-III, Part-IV, Ch-8, It # 16 (d), Pg-45	Sft	13,974.00	145.00	2,026,230.00
15	Providing and fixing in position doors, windows and ventilators of first class deodar wood frames, and 1-1/2" thick Teak wood-ply shutters of 2nd class deodar wood skeleton (Solid) stylesand rails core of partal wood and Teak ply wood (3 ply) on both sides including hold fasts, hinges, iron tower bolts, handles and cleats with cord etc, complete. CSR-2024, Vol-III, Part-I, Ch-10, It # 57, Pg-60	Sft	602.00	2,686.73	1,617,411.46
16	P/F approved quality of door closer in/c fixing on door with screws and adjusting speed on required etc complete. CSR-2024, Vol-III, Part-I, Ch-18, It # 117, Pg-87	Nos.	86.00	13,188.24	1,134,188.64
17	P/F approved quality of mortise lock. CSR-2024, Vol-III, Part-I, Ch-18, It # 118, Pg-87	Nos.	86.00	2,049.84	176,286.24

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
18	Providing & fixing colour crete jto wall surface to provide, durable crust and aesthetics having thickness upto 3/4" with specified colour having water, fire and temite resistance (upto 20' -0 height). CSR-2024, Vol-III, Part-I, Ch-9, It # 40, Pg-54	Sft	3,783.00	117.32	443,821.56
19	Add extra labour for rock wall / colour Crete above 20,-0 height requiring scaffolding etc: for every 10'-0 additional height). CSR-2024, Vol-III, Part-I, Ch-9, It # 45, Pg-55	Sft	3,783.00	10.50	39,721.50
20	Preparing the surface and painting with plastic emulsion Paint of make (Old surface.). CSR-2024, Vol-III, Part-I, Ch-9, It # 41.A, Pg-54	Sft	58,084.00	33.05	1,919,676.20
20 (a)	2nd & subsequent coat. CSR-2024, Vol-III, Part-I, Ch-9, It # 41.B, Pg-54	Sft	58084.00	51.05	2,965,188.20
21	Preparing the surface & painting with matt finish paint of approved make to old matt finish surface. CSR-2024, Vol-III, Part-I, Ch-9, It # 37.A, Pg-54	Sft	132,364.00	30.29	4,009,305.56
21 (a)	2nd & subsequent coat. CSR-2024, Vol-III, Part-I, Ch-9, It # 37.B, Pg-54	Sft	132,364.00	27.06	3,581,769.84
22	Preparing the surface and painting with weather coat of approved make to old weather coat surface CSR-2024, Vol-III, Part-I, Ch-9, It # 39.A, Pg-54	Sft	72,849.00	21.79	1,587,379.71
22(a)	2nd & subsequent coat. CSR-2024, Vol-III, Part-I, Ch-9, It # 39.B, Pg-54	Sft	72,849.00	12.55	914,254.95
23	Extra labour for external surface for distemper /paint/ white wash / colour wash/weather coat above 20'-0 height using long ladder or jhoola for Nos.coat (for every 10'-0 additional height) CSR-2024, Vol-III, Part-I, Ch-9, It # 42, Pg-54	Sft	18,212.25	36.63	667,114.72
23(a)	Painting doors & windows any type CSR-2024, Vol-III, Part-I, Ch-11, It # 4-c (i), Pg-62	Sft	14,240.00	13.62	193,948.80
23(b)	Nos. Subsequent Coat CSR-2024, Vol-III, Part-I, Ch-11, It # 4-c (ii), Pg-62	Sft	14,240.00	9.74	138,697.60
24	Providing and fixing G.I frames /Choukhats of size 7" x 2" or 4 1/2" x 3" for door using 20 gauge G.I sheet I/c welded hinges and fixing at site with necessary hold fasts, filling with cement sand slurry of ratio 1:6 and repairing the jambs. The cost also i/c all carriage , tools and plants used in making and fixing. CSR-2024, Vol-III, Part-I, Ch-17, It # 29, Pg-76	Rft	197.00	690.67	136,061.99
	a) 2" x 7½"				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
25	Providing and laying 1:3:6 cement concrete solid block masonry wall 6" and below in thickness set in 1:6 cement mortarin ground floor Super Structure including rakingout joints & curring etc, complete.. CSR-2024, Vol-III, Part-I, Ch-4, It # 24, Pg-27	Sft	2,350.00	514.82	1,209,827.00
26	French polishing complete. CSR-2024, Vol-III, Part-I, Ch-11, It # 7, Pg-63				
A	On New Works	Sft	2,409.00	65.18	157,018.62
B	Old Work	Sft	24,085.00	33.42	804,920.70
27	Supplying & fixing in position Aluminum channels framing for hinged doors, office partition i/c with 5 mm thick tinted glass glazing (Belgium) and Alpha (Japan) locks I/c handles, stoppers etc CSR-2024, Vol-III, Part-I, Ch-18, It # 83(b), Pg-83	Sft	1,111.00	1,656.14	1,839,971.54
28	Supplying & fixing in position Aluminum channels framing for sliding windows & ventilators of made with 5 mm thick tinted glass glazing (Belgium) & Aluminum fly screen I/c handles stoppers & locking arrangement etc. complete. CSR-2024, Vol-III, Part-I, Ch-18, It # 84(a/b), Pg-83	Sft	1,068.00	2,386.73	2,549,027.64
29	Providing and fixing in position UPVC channels framing of sliding windows and ventilators of unplasticized polyvinyl chloride (UPVC) with fly screen in/c handles stoppers looking arrangement etc complete Deluxe model etc complete as per direction Engineer / Incharge. CSR-2024, Vol-III, Part-I, Ch-18, It # 111, Pg-86	Sft	100	3,468.16	346,816.00
30	Providing and fixing in position UPVC channels framing for Door of unplasticized polyvinyl chloride (UPVC) with fly screen in/c handles stoppers looking arrangement etc complete Deluxe model etc complete as per direction Engineer / Incharge. CSR-2024, Vol-III, Part-I, Ch-18, It # 112, Pg-86	Sft	350	3,267.66	1,143,681.00
31	Providing & Laying Full Body Porcelain Tile in Flooring or Facing of Approved Design Set in Gry Cement Motor 1:2 or of 3/4" Thickinss I/C Washing & Joints With White Cement Slurry Using Colour Pigment for matching complete as per Specification CSR-2024, Vol-III, Part-I, Ch-8, It # 28(ix), Pg-46				
	a) Flooring	Sft	2,808.00	429.57	1,206,232.56
	b) Wall Dado	Sft	4,212.00	429.57	1,809,348.84
32	Laying floors of approved coloured glazed tiles 1/4" thick floor of approved color & size jointing in white cement and laid over 1:2 cement sand mortor 3/4" thick including grouting with matching color and finishing CSR-2024, Vol-III, Part-I, Ch-8, It # 25, Pg-46 a) Wash Rooms Flooring	Sft	2,152.00	325.40	700,260.80

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
33	Laying floor of approved with glazed tiles 1/4" thick dado of approved color & size jointing in white cement and laid over 1:2 cement sand mortar 3/4" thick including grouting with matching color and finishing. CSR-2024, Vol-III, Part-I, Ch-8, It # 24, Pg-45 a) Wash Rooms Wall Dado	Sft	7,896.00	389.36	3,074,386.56
34	P/F Granite Strips (5"x1"x1") thick fixed over stair steps of required width set incement sand mortar 1:2 in gray cement 1"thick in/c washing and filling etc complete. CSR-2024, Vol-III, Part-I, Ch-18, It # 120, Pg-87	Sft	150.00	1,726.70	259,005.00
35	Making and fixing fiber glass sun shade standard size 3mm sheet (02 layer) molded in panel in/c M.S Pipe 6" dia 20' height at 20' center fixing C.C foundation with M.S Square pipe 1-1/2" x 1-1/2" double kanchi around from with internal M.S Square pipe 2x2 center to center in/c welding assembling etc complete in all respect CSR-2024, Vol-III, Part-I, Ch-18, It # 119, Pg-87	Sft	2,711.00	2,041.46	5,534,398.06
36	Providing & fixing false ceiling of the Mtropile/gymsum in panels of required design and size including frame work of Aluminum T-section hanged with nail wire to ceiling etc: completed. CSR-2024, Vol-III, Part-I, Ch-7, It # 43, Pg-43	Sft	13,377.00	216.75	2,899,464.75
37	Supplying & fixing window blinds (Horizontal / vertical) with plain design and of approved colour i/c fixing in windows with necessary accessories. CSR-2024, Vol-III, Part-I, Ch-10, It # 70, Pg-61	Sft	1,216.00	461.14	560,746.24
	Total Schedule Item (Civil Work)				61,108,141.37
	ADD PREMIUM ON SCHEDULE ITEMS (ABOVE / BELOW)				
	Total Schedule Items (Civil Work)				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-A (Schedule Items)				
	Schedule Item (Plumbing Work)				
1	Providing and fixing European type white glazed earthen ware wash down W.C. pan complete with & including the cost of white / black plastic seat (Best quality) and lid with C.P. brass hinges best quality and buffers 3 gallons white glazed earthen ware low level flushing cistem with siphon fitting 1½ " dia white porcelain enameled flush bend dia and making requisite number of holes in walls, plinth & floor for pipe connection & making good in cement concrete 1:2:4 (Foreign quality). (ICL or equivalent). CSR-2024, Vol-III, Part-III, Ch-01, It # 04, Pg-186	Nos.	10	44,244.72	442,447.20
2	Providing and fixing Orusa type white glazed earthen ware W.C. pan with front flush inlet & complete with including the cost of flushing cistern with internal fitting and flush pipe with bend and making requisite number of holes in walls, plinth & floor for pipe connection & making good in cement concrete 1:2:4. CSR-2024, Vol-III, Part-III, Ch-01, It # 3 (b), Pg-186	Nos.	5	11,282.90	56,414.50
3	Providing and fixing 24"x18" lavatory basin in white glazed earthen ware complete with & including the cost of W.I. or C.I. cantilever bracket 6 inches built into wall, painted white in two coats after a primary coat of red lead paint, a pair of 1-1/2" dia chrome plated pillar taps, 1-1/2" rubber plug & chrome plated brass chain 1-1/4" dia malleable iron or C.P. brass traps malleable iron or brass unions and making requisite number of holes in walls, plinth & floor for pipe connection & making good in cement concrete 1:2:4 (Foreign equivalent). CSR-2024, Vol-III, Part-III, Ch-01, It # 10, Pg-187	Nos.	12	24,094.98	289,139.76
4	Add extra for providing & fixing of earth ware pedestal white or coloured Glazed (Foreign or equivalent) CSR-2024, Vol-III, Part-III, Ch-01, It # 11, Pg-187	Nos.	12	3,675.07	44,100.84
5	Providing and fixing 24"x18"x8" white glazed fire clay sinks complete with C.I. or W.I. bracket 6 inches built into walls, 1-1/2" rubber plug and chrome plated brass chain 1-1/2" C.P. brass washer 1-1/2" dia malleable iron or C.P brass trap with malleable iron or brass union & making requisite number of holes in walls, plinth & floor for pipe connection & making good in cement concrete 1:2:4 (Foreign or equivalent). CSR-2024, Vol-III, Part-III, Ch-01, It # 18, Pg-188	Nos.	2	22,617.27	45,234.54
6	Supplying & fixing C.P muslim shower with double bib cock and ring pipe etc. complete CSR-2024, Vol-III, Part-III, Ch-06, It # 19-A, Pg-199	Nos.	35	5,475.60	191,646.00

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
7	Supplying & Fixing in Position C.P bib. CSR-2024, Vol-III, Part-III, Ch-06, It # 2 (b), Pg-197	Nos.	10	1,134.90	11,349.00
8	S/fixing concealed Tee-stop cock of superior quality with Crystal head 1/2" dia CSR-2024, Vol-III, Part-III, Ch-06, It # 12 (b), Pg-198	Nos.	50	1,673.10	83,655.00
9	S/fixing concealed stop cock of suprior best quality with C.P.head 1/2" dia CSR-2024, Vol-III, Part-III, Ch-06, It # 11 (b), Pg-198	Nos.	20	1,848.60	36,972.00
10	Supplying & fixing wash basin mixture of superior quality with C.P. Crystal head 1/2" dia CSR-2024, Vol-III, Part-III, Ch-06, It # 11 (b), Pg-198	Nos.	5	4,890.60	24,453.00
11	Fixing floor traps of sizes with grating including cutting and making good the requisite number of holes in walls, plinth and floors and making good in 1:2:4 C.C. CSR-2024, Vol-III, Part-II, Ch-11, It # 9, Pg-204	Nos.	45	1,170.00	52,650.00
12	Providing, Laying UPVC Pressure Pipes of Class 'B' (equivalent make) fixing in trench i/c cutting, fitting and jointing with 'Z' joint with one rubber ring i/c testing with water to a head 61 meter or 200 ft. CSR-2024, Vol-III, Part-II (Public Health Engineering Works)				
	a) 80mm (3" Dia) Ch-II, It # D(1)(a), Pg-110	Rft	1645.00	255.18	419,771.10
	b) 100mm (4" Dia) Ch-II, It # D(1)(b), Pg-110	Rft	1200.00	384.82	461,784.00
13	Providing UPVC. pipes specials and clamps etc. including fixing cutting and fittings complete with and including the cost of breaking through walls and roof making good etc. with pigment to match the colour of the building and testing with water to a pressure bead of 200 feet and handling. CSR-2024, Vol-III, Part-III,				
	a) 1/2" Dia pipe Ch-4, It # 2 (i), Pg-193	Rft	300.00	159.30	47,790.00
	b) 3/4" Dia pipe Ch-4, It # 2 (ii), Pg-193	Rft	250.00	199.83	49,957.50
	c) 1" Dia pipe Ch-4, It # 2 (iii), Pg-193	Rft	500.00	272.35	136,175.00
	e) 2" Dia pipe Ch-4, It # 2 (iv), Pg-193	Rft	576.00	836.36	481,743.36
14	P/F Union 1/2" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 3(a) Pg-193	Nos.	15	528.75	7,931.25
15	P/F Union 3/4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 3(b) Pg-193	Nos.	25	554.49	13,862.25
16	P/F Union 1" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 3(c) Pg-193	Nos.	5	610.08	3,050.40

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
17	P/F Cross 1/2" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 4(a) Pg-193	Nos.	5	1,872.00	9,360.00
18	P/F Cross 3/4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 4(b) Pg-193	Nos.	5	2,293.20	11,466.00
19	P/F Cross 1" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 4(c) Pg-193	Nos.	3	2,574.00	7,722.00
20	P/F Elbow 1/2" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 5(a) Pg-194	Nos.	20	519.48	10,389.60
21	P/F Elbow 3/4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 5(b) Pg-194	Nos.	15	550.37	8,255.55
22	P/F Elbow 1" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 5(c) Pg-194	Nos.	18	586.40	10,555.20
23	P/F Elbow 4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 5(d) Pg-194	Nos.	8	1,528.49	12,227.92
24	P/F Socket 1/2" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 6(a) Pg-194	Nos.	20	550.37	11,007.40
25	P/F Socket 3/4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 6(b) Pg-194	Nos.	15	560.66	8,409.90
26	P/F Socket 1" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 6(c) Pg-194	Nos.	12	570.96	6,851.52
27	P/F Socket 4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 6(d) Pg-194	Nos.	8	1,703.52	13,628.16
28	P/F "Y" Tee 4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 7(d) Pg-194	Nos.	8	1,100.17	8,801.36
29	P/F "Y" Tee 6" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 7(e) Pg-194	Nos.	10	1,854.87	18,548.70

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
30	P/F Tee 1/2" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 10(a) Pg-194	Nos.	20	485.50	9,710.00
31	P/F Tee 3/4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 10(b) Pg-194	Nos.	15	491.68	7,375.20
32	P/F Tee 1" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 10(c) Pg-194	Nos.	18	512.27	9,220.86
33	P/F Tee 4" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 10(d) Pg-194	Nos.	8	1,106.35	8,850.80
34	P/F Tee 6" (CPVC Sch-40) sanitary tap/sofaida i/c all labour. CSR-2024, Vol-III, Part-III, Ch-4, It # 10(e) Pg-194	Nos.	8	1,589.23	12,713.84
35	Supplying & fixing swan type pillar cock of superior quality with Single C.P. With Crystal Head 1/2" dia CSR-2024, Vol-III, Part-III, Ch-6, It # 16(b) Pg-199	Nos.	15	1,848.60	27,729.00
36	Providing and fixing towel rail 24"x3/4" round or with brackets screws nuts & cleats etc. complete (Superior quality). CSR-2024, Vol-III, Part-III, Ch-2, It # 1(III)b Pg-190	Nos.	10	2,524.57	25,245.70
37	Providing and fixing C.P. brass toilet paper brackets complete (similar) to twyford design number 1108 (Superior Quality). CSR-2024, Vol-III, Part-III, Ch-2, It # 2b Pg-190	Nos.	10	1,170.00	11,700.00
38	Providing & fixing 15"x12" bavelled edge mirror of Belgium glass completed with 1/8" thick hard and C.P. screws fixed to wooden cleats (Superior quality). CSR-2024, Vol-III, Part-III, Ch-2, It # 3(b) Pg-190	Nos.	15	3,510.00	52,650.00
39	Supplying & fixing soap tray of superior quality and design with fine finishing with C.P. screws etc complete CSR-2024, Vol-III, Part-III, Ch-2, It # 5 Pg-190	Nos.	15	585.00	8,775.00
40	Supplying & fixing bath room accessories set (7 pieces) i/c towel rod ,Brush holder ,soap tray, shelf of approved design including cost of screw ,nuts etc. complete (Master Brand) CSR-2024, Vol-III, Part-III, Ch-6, It # 23 Pg-199	Nos.	3	14,320.80	42,962.40

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
41	<p>Constructing manhole or inspection chamber for the required diameter of circular sewer and 3'-6" (1067 mm) depth with walls of B.B in cement sand mortar 1:3 cement plastered 1:3, 1/2" thick, inside of walls and 1" (25 mm) thick over benching and channel i/c fixing C.I manhole cover with frame of clear opening 1-1/2' x1- 1/2' (457x457 mm) of 1.75 cwt. (88.9 kg) embaded in plain C.C 1:2:4 and fixing 1" (25 mm) dia M.S steps 6" (150 mm) wide projecting 4" (102 mm) from the face of wall at 12" (305 mm) C/C duly painted etc. Complete as per standard specification and drawing.</p> <p>CSR-2024, Vol-III, Part-II, Ch-II, It # O, Pg-134</p> <p>a) 2'x2'x3'-6"</p>	Nos.	5	55,584.18	277,920.90
42	<p>Providing and laying of U-PVC Pipe of class 'B' suitable for external drainage work buried in ground under roads crossing as per specification with excavating trench for laying of pipe, bricks, warning tape, and back filling with new and fresh sand (4" below pipe and sides with leveling stacks), compaction and plugging of pipe ends etc complete</p> <p>CSR-2024, Vol-III, Part-II,</p>				
	a) 12" Dia pipe Ch-II, It # D-1 (g), Pg-200	Rft	102.00	2,382.47	243,011.94
	b) 8" Dia pipe Ch-II, It # D-1 (e), Pg-200	Rft	210.00	1,113.10	233,751.00
	c) 6" Dia pipe Ch-II, It # D-1 (d), Pg-200	Rft	215.00	732.09	157,399.35
	Total Schedule Item (Plumbing Work)				4,166,366.00
	ADD PREMIUM ON SCHEDULE ITEMS (ABOVE / BELOW)				
	Total Schedule Item (Plumbing Work)				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-A (Schedule Items)				
	Schedule Item (Electrical Work)				
1	Providing & laying (Main or Sub Main) PVC insulated with size 3 x 3/.029 copper conductor in $\frac{3}{4}$ " Dia PVC conduit recessed in the wall or column as required.CSR-2024, Vol-III, Part-V, Ch-1, It # C/15, Pg-229	Rft	3500.00	477.77	1,672,195.00
2	Providing & laying (Main or Sub Main) PVC insulated with size 3 x 7-3/.029 copper conductor in $\frac{3}{4}$ " Dia PVC conduit recessed in the wall or column as required. CSR-2024, Vol-III, Part-V, Ch-1, It # 17, Pg-229	Rft	100.00	667.06	66,706.00
3	Providing & laying (Main or Sub Main) PVC insulated with size 3 x 7/.036 (4mm ²) copper conductor in 1" dia PVC conduit on surface.. (Vol-III, Part-V Electrical Work) (S.I.No.18 Page-229)	Rft	100.00	916.79	91,679.00
4	Providing & laying (Main or Sub Main) PVC insulated with size 3-7/.044 copper conductor in $\frac{3}{4}$ " Dia PVC conduit recessed in the wall or column as required. (Vol-III, Part-V Electrical Work) (S.I.No.19 Page-229)	Rft	150.00	1,329.97	199,495.50
5	Providing & laying (MAIN or SUB MAIN) PVC insulated & PVC Sheeted with three core copper conductor 600/1000 volts size 16mm ² . (Vol-III, Part-V Electrical Work) (S.I.No.53 Page-232)	Rft	50.00	1,114.19	55,709.50
6	Providing & laying (MAIN or SUB MAIN) PVC insulated & PVC Sheeted with three core copper conductor 600/1000 volts size 35mm ² . (Vol-III, Part-V Electrical Work) (S.I.No.55 Page-232)	Rft	50.00	1,876.86	93,843.00
7	Providing & laying (MAIN or SUB MAIN) PVC insulated & PVC Sheeted with three core copper conductor 600/1000 volts size 50mm ² . (Vol-III, Part-V Electrical Work) (S.I.No.56 Page-232)	Rft	20.00	2,481.21	49,624.20
8	Providing & fixing circuit breaker 6, 10 , 15, 20,30,40,50&63 SP (TB-5S)on prepared board as required. (Vol-III, Part-V Electrical Work) (S.I.No.178 Page-243)	Nos.	50	2,504.12	125,206.00
9	Providing & fixing circuit breaker 6, 10 , 15, 20,30,40,50 & 63 DP (TB-5S)on prepared board as required. (Vol-III, Part-V Electrical Work) (S.I.No.179 Page-243)	Nos.	12	5,528.57	66,342.84
10	Providing & fixing circuit breaker 125,150,200,&225amp TP(XS-225NS) on prepared board as required (Vol-III, Part-V Electrical Work) (S.I.No.182 Page-244)	Nos.	2	43,010.16	86,020.32
11	Providing & fixing Two pin 10/15amp plug & socket. (Vol-III, Part-V Electrical Work) (S.I.No.189 Page-244)	Nos.	50	617.69	30,884.50
12	Providing & fixing three pin 10/15amp plug & socket flush type. (Vol-III, Part-V Electrical Work) (S.I.No.190 Page-244)	Nos.	40	677.36	27,094.40
13	Providing & fixing A.C Electric Ceiling fan 56" (good quality). (Vol III, Part-V Electrical Work) (S.I.No.195 Page-244)	Nos.	8	14,869.21	118,953.68
14	Providing & fixing A.C Electric Wall Bracket fan 18" (good quality). (Vol-III, Part-V Electrical Work) (S.I.No.196 Page-244)	Nos.	5	11,606.88	58,034.40
15	Providing & fixing channel patti 1" as required as per instruction of EI (Vol-III, Part-V Electrical Work) (S.I.No.250 Page-249)	Rft	300.00	269.09	80,727.00
16	Providing & fixing channel patti 2" as required as per instruction of EI (Vol-III, Part-V Electrical Work) (S.I.No.251 Page-249)	Rft	300.00	492.68	147,804.00
	Total Schedule Itemss (Electrical Work)				2,970,319.33
	ADD PREMIUM ON SCHEDULE ITEMS (ABOVE / BELOW)				
	Total Schedule Items (Electrical Work)				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-B (Non-Schedule Items)				
	Non-Schedule Items (Civil Work)				
1	Supplying & fixing in position imported fixed Glass partitions with 12 mm thick tinted glass glazing (Belgium) with necessary frame channel of aluminum as per instruction/approval of engineer In- charge complete in all respect	Sft	650.00		
2	Supplying & fixing in position 12 mm Glass doors (tempered) i/c flooring machine (make JB saeed) & locking arrangement , as per design & specifications , complete in all respects, as per instructions of Engineer Incharge	Sft	200.00		
3	Supplying & fixing frosted paper for Aluminum Partitions & doors or wherever required , complete in all respects, as per instructions of Engineer Incharge.	Sft	1000.00		
4	Providing and fixing of Door hingis mahcine imported make with cutting floor and fixing proper and adjustment as per instruction of engineer.	Nos.	20.00		
5	Providing and fixing of plain 5mm glass with wooden gola both side including all respect etc complete	Sft	150.00		
6	P/A Epoxy Coating 3 mm thick on Floor/walls or wherever required i/c applying priming coat, filling, rubbing smoothing & grinding with sand paper, complete as shown on the drawings i/c application of primer & preparation of surface to be painted complete as per drawings, specifications & as per instructions of Consultant / Engineer In-charge.	Sft	600.00		
7	Providing and fixing of Vinyl Flooring (Homogenous/or equivalent) imported make as per medicated standard with all respect etc complete.	Sft	600.00		
8	Providing and fixing of Vinyle coving as per instruction of engineer.	Rft	500.00		
9	Providing and laying of Antifungal Paint with preparing surface and filling void smooth surface and applying antifungal paint etc complete.	Sft	2500.00		
10	Providing and laying Aggregate sand / mohram sand with leveling dressing compacting watering with roller as per instruction of engineer.	Cft	1500.00		
11	Providing and fixing of artificial granite with cement mortar and cement slurry including matching filling for voids with all respect etc complete.	Sft	200.00		
12	Providing and fixing of Dampa ceiling 2'-0" x 2'-0" with channel framing including roof hanging support with all respect etc complete	Sft	750.00		
13	Dismantling and removing of existing damage gypsum and Dampa and other type of false ceiling with shifting of debris from site to outside as per instruction by inchage/engineer.	Sft	1500.00		
14	Repairing and maintenance of wooden doors with change of handle, lipping, polish/paint work, change ply/wood, resizing etc complete also re-fixing as per instruction.	Nos.	50.00		
15	Removing of existing W.C/commode/wash basin and piping, fittings and fixtures as per instruction by engineer. Rate of Nos. washroom.	Nos.	20.00		

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
16	Supply & Erection M.S ramp, 4th floor at Hospital building, as per drawing, complete in all respect				
	(a) Supply & installation of M.S Ramp including 0.8mm thick decking sheet as per drawing. Complete in all respect as per Live Load Consider 5 kn/m2	Sft	904.00		
	(b) Providing, fabricating, welding & fixing in position Stainless Steel 304 grade staircase railing comprising of 2" dia handrail, 1-1/2" dia baluster at alternate steps with 1/2" dia solid bar, and 1/2" dia mid-rails (4 Nos.), including all required accessories (base plate, bolts, caps, etc.), complete in all respects as per drawing, standards, specifications, and the direction of the Engineer.	Rft	904.00		
	(c) Dismantling and Re-installation of existing fiber shed & MS pipe structure. Bidders are advised to visit the site	Job	1		
	Total of Non-Schedule Items (Civil Work)				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-B (Non-Schedule Items)				
	Non-Schedule Item (Plumbing work)				
1	Providing and fixing of Gate valve 2" Dia (Brass) imported make with all respect etc complete.	Nos.	6		
2	Providing and fixing of Gate valve 3" Dia (Brass) imported make with all respect etc complete.	Nos.	2		
3	Providing and fixing of Foot valve 4" Dia (Brass) imported make with all respect etc complete.	Nos.	2		
4	Providing and fixing of valve socket 4" Dia (Brass) imported make with all respect etc complete.	Nos.	3		
5	Providing and fixing of valve socket 3" Dia (Brass) imported make with all respect etc complete.	Nos.	5		
6	Providing and fixing of valve socket 2" Dia Brass imported make with all respect etc complete.	Nos.	12		
7	Providing and fixing of uPVC Pipe Sch 80 4" dia with Special fitting Elbow Tee Socket with Adhesive solution with all respect etc complete	Rft	550.00		
8	Providing and fixing of cPVC Pipe Sch 80 1" dia (hydro Canada) with Special fitting Elbow Tee Socket with Adhesive solution with all respect etc complete	Rft	1000.00		
9	Providing and fixing of uPVC Pipe Sch 80 3/4" dia (hydro Canada) with Special fitting Elbow Tee Socket with Adhesive solution with all respect etc complete	Rft	1520.00		
10	Providing and fixing of uPVC Pipe Sch 80 6" dia with Special fitting Elbow Tee Socket with Adhesive solution with all respect etc complete	Rft	36.00		
11	Providing and fixing of Gate valve 6" dia brass imported make with all respect etc complete	Nos	2		
12	Providing and fixing of Check valve 4" dia brass imported make with all respect etc complete	Nos	2		
13	Providing and fixing of cPVC Pipe Sch-80 1-1/4" dia (hydroCanada) with Special fitting Elbow Tee Socket with Adhesive solution with all respect etc complete	Rft	60.00		
14	Providing and fixing of Paper Holder approved make with all respect etc complete	Nos	1		
15	Providing and fixing of Toilet hand Rail approved make with all respect etc complete.	Nos	1		
16	Providing and fixing Only muslim shower with connection pipe for urinal etc complete.	Nos	1		
	Fire Fighting System				
17	Automatic Fire Extinguisher (12Kg) Dry Chemical Powder free extinguisher for Class A, B & C tire	Nos	15		
18	CO2 Fire Extinguisher for Class B and C Fire (5Kg)	Nos	15		
19	Div Chemical Powder free extinguisher for Class A, B & C (6Kg) tire	Nos	3		
	Total Non-Schedule Items (Plumbing work)				

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
	Part-B (Non-Schedule Items)				
	Non-Schedule Item (Electrical Work)				
1	Providing and fixing of multi socket 13-Amp approved make with all respect etc complete	Nos.	15		
2	Providing and fixing of 4-Gang switch/socket sheet with back box etc complete as per approved make/quality	Nos.	25		
3	P/Fixing 2'-0" x 2'-0" Fancy False ceiling fan (Circo-Imported) of approved make and design etc complete in all respects as per directives of Engineer Incharge (make voldom /equivalent)	Nos.	50		
4	Providing and fixing Ceiling 600mm x 600mm 40W LED Panel Light Fixture, 6000K, IP-20.	Nos.	25		
5	Providing and fixing of 18/20W LED downlight 6000K, IP-20 with holder/bracket.	Nos.	30		
6	Providing and fixing Exhaust fan plastic body 6" dia with all respect etc complete	Nos.	2		
7	Providing and fixing of mild steel Cable Tray 150mm x 75mm with cover and powder coated Swg 16 including Bend with fischer and thread rod and channel including all respect etc complete	Rft	45.00		
8	Providing and fixing of lighting Distribution board with incoming and outgoing circuit breakers and other components as per SLD with cable terminations, made with 16-SWG sheet steel metal housing powder coated with approved color (as per specifications), dust protected, vermin proof housing having all the necessary switching & protections, energy analyzer etc as per specifications and instruction by engineering incharge.	Nos.	2		
9	Providing, installing, laying, testing and commissioning of Fire Alarm Detection System, fire rated wired with 1.5 sq.mm PVC insulated Twin Core Flexible cable twisted system zone & belt wiring in 25mm PVC conduit recessed in ceiling, wall/floor as shown in drawing up to FACP with all accessories such as bends, junction boxes & socket etc. as per specification complete in all respect.	MTR	100.00		

Sr.#.	Description	Unit	Quantity	Rate (Rs.)	Amount (Rs.)
10	Supply and installation of intelligent Addressable photoelectric-type smoke detector with standard base Operating environment 32 to 100°F with 10% variation, 0 to 90% RH, noncondensing. Addressable Detector in compliance with UL, ULC listed, standard and FM Approved	Nos.	50		
11	Supply and installation of double action push Addressable pull station with inbuilt fault isolator with metal box [red powder coated] Operating environment 32 to 100°F with 10 % variation, 0 to 90% RH, noncondensing. Addressable Pull Station in compliance with UL, ULC standards Approval and FM Approved	Nos.	RATE ONLY		-
12	Supply and installation of intelligent Addressable module based electronic sounder / horn cum multi-candela strobe unit, customization of intensity selection from 15DC to 185CD of strobe with self-tested diagnostic feature which able to generate NAC pass / fail report in compliance with UL, ULC standards Approval and FM Approved	Nos.	RATE ONLY		-
13	Supply and installation of dual port, bi-directional communication fault isolator for detector loops circuit compliance with UL, ULC standards Approval and FM Approved	Nos.	RATE ONLY		-
	Total Non-Schedule Items (Electrical Work)				



DOW UNIVERSITY OF HEALTH SCIENCES

NIT No. DUHS/W&S/2026/1665

Dated: 26-01-2026

NOTICE INVITING TENDER (NIT)

Dow University of Health Sciences (DUHS), Karachi is a Public Sector University that invites e-bids through E-Pak Acquisition & Disposable System (EPADS) from well-reputed Companies / Bidders/firms having registration with the Federal Board of Revenue (FBR), Income Tax Department, Sindh Revenue Service Board and Sales Tax.

S#	NAME OF WORK	METHOD OF PROCUREMENT
1.	PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)	
2.	REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)	
3.	(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)	Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)
4.	MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)	Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)
5.	MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)	
Tender Fee:	Rs. 5,000/- (Rupees Five Thousand Only) Non-Refundable in shape of Pay Order / Demand Draft in favor of Dow University of Health Sciences, Karachi.	
Security:	Bid Security and Performance Security as mentioned in the bidding document.	

E-Bidding documents as per detailed terms and conditions, specifications and requirements are available for the registered bidders on Sindh Public Procurement Regulatory Authority's EPADS at <https://portalsindh.eprocure.gov.pk/#/> and University website <https://duhs.edu.pk> on the payment noted above (non-refundable) on any working day except the day of opening of tenders.

The electronics bids must be submitted using EPADS before closing time **16-02-2026 at 10:00 Hrs.** Manual bids, shall not be accepted. Electronic Bids will be opened on **16-02-2026 at 11:30 Hrs.** For any query related to e-bidding, please Contact to the facilitator /Coordinator, Procurement Committee Services at Admin Block 5th floor DMC Campus, Baba-e-Urdu Road near Civil Hospital Karachi, Phone No. 021-38771000 (Ext. 5820 /5907).The tender fee (non-refundable) and bid security (refundable) shall be submitted in the form of a Pay Order/Demand Draft / Bank Guarantee issued by a Scheduled Bank of Pakistan in favor of Dow University of Health Sciences, Karachi and must be delivered to the above-mentioned office of the Facilitator / Coordinator, Procurement Committee at the same address.

In case of any unforeseen situation resulting in the closure of the office on the date of opening or if Government declares Holiday the tenders shall be submitted/opened online on the next working day at the same time. The Procuring Agency reserves the right to reject any or all bids subject to relevant provisions of SPP Rules, 2010 (Amended up to date) and may cancel the bidding process at any time prior to the acceptance of a bid or proposal under "Rule-25" of said Rules. In case of any ambiguity in between NIT and tender document, tender will be considered as senior.



DOW UNIVERSITY OF HEALTH SCIENCES

26 جنوری 2026

ان آئی نمبر DUHS/W&S/2026/1665

کاربری پیش‌نیازی (EPADS) که بایان مطابق با این نتایج است.

S#	NAME OF WORK	METHOD OF PROCUREMENT
1.	PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)	
2.	REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)	Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)
3.	(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)	
4.	MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)	Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)
5.	MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)	

بر جزو بونی و بندگان کیلئے تحصیلی شرائیکا و شوابا، اصریحیات اور مطلوبات پر مشتمل ای بندگ و ممتازیات سندھ پلک پر کوئی رہنما نہیں اور اسی پر پاؤں پاؤں اور اسی پر پاؤں پاؤں <https://portalsindh.eprocure.gov.pk/#/> اور <https://duhs.edu.pk> پر متعارف ہے جو کسی بھی کام والے دن سوائے بونی کھٹکے کی تاریخ کے مدد میں باہم اچھا اور بھی خوبی کی وجہ سے۔

اک بولیاں نے یہاں اپنے آخری وقت 10:00 بجے ہارن 16 فروری 2026 سے قبیلہ زمانہ میں کروادی جائیں۔ وہی بولیاں موصول ہنس کی جائیں گی۔ ایکسا اک بولیاں موصول 16 فروری 2026 بات 11:30 بجے کھوی جائیں گی۔ اسی پر ہمگی سے متعلق کسی بھی معلومات کیلئے فلسفی اکاڈمی خلیفہ پرست کمیٹی سرور ایجمن بنا کا۔ پانچ سو ہزار ہزار ایجمن پر کامیابی پہنچانے اور درود، نزد مدرسہ پہنچان، کراپی سے فون نمبر (Ext. 5820/5907) 021-38771000 پر رابطہ کریں۔ نیز رخصی (Ex. 5820/5907) اور پرنسپری (عاقل ایجمن) مکمل پے آئر روز ایجمن ذرا فافت ایجمن کارنی پاکستان کی بھی شیفڑہ پیچک میں ہم ادا کریں جو خلیفتی آئیں جیسا سائز، کریبی تھی کہ کہاں پر فلسفی اکاڈمی خلیفہ پرست کمیٹی کے مددگار پالا خلیفہ میں اسی پر پہنچی جائے۔ حکومت کی جانب سے قبیلہ یا پرنسپری سرور ہائی اس کے سبب نیز نہار بولیاں اس کے لئے جو روزی اقتام اور وقت پر آن لائیں جائیں اس کھوی جائیں گی۔ پرست کارنی میں نیپی روز 2010 (آج کی ہارن جنکے تینمہ شدہ) کی معاشرہ و غافلیت کے قات کی بھی ایضاً خلیفہ پرست کر کے کامن میں نہار بولیاں کی جائیں گے۔ اور مکروہ روز 25 دسمبر 25۔ کے تھت بولی یا جو جو تھل ہوئے سے قبل ہی کے عین کو معلم کر سکتے۔ ان ہی کی اور نیز نہار بولیز کے درمیان کسی ایسا کامیکی میں موصول ہنس کی میں بینچ رکو فونسپری جائیں گے۔

۱۵۰

و رکس ایچ ڈی سرویز ڈپارٹمنٹ،
(ڈی پی ڈی ایچ ڈی)

DOW UNIVERSITY OF HEALTH SCIENCES																			
پیارے 26 جنوری 2026	این آئندہ نمبر: 1665/W&S/DUHS/2026																		
واک گ ہ د ب ل آہن																			
پاکستانیوں کی آن ہیلٹ سائنسز (دی یو ایچ ایس) کا ہمیشہ ہٹ پبلک سکٹر پروپرٹی کی فیڈرل ہوڑہ آن ریپورٹ (ایپی آن) اور اسکر ٹیکسٹ پارٹیشن، سٹر ریپورٹ سروس ہوڑہ ہ سیل ٹیکسٹ ور رجسٹر معرفو ہ مستحضر خصیشیں/واک ڈینڈن/فرمز کان ای پاک ایمکیویشن اینڈ ڈیسپوزل سسٹر (EPADS) جی ذریعی ای واک گہریل آہن																			
<table border="1"> <thead> <tr> <th>S#</th><th>NAME OF WORK</th><th>METHOD OF PROCUREMENT</th></tr> </thead> <tbody> <tr> <td>1.</td><td>PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)</td><td></td></tr> <tr> <td>2.</td><td>REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)</td><td>Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)</td></tr> <tr> <td>3.</td><td>(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)</td><td>Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)</td></tr> <tr> <td>4.</td><td>MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)</td><td></td></tr> <tr> <td>5.</td><td>MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)</td><td></td></tr> </tbody> </table>		S#	NAME OF WORK	METHOD OF PROCUREMENT	1.	PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)		2.	REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)	Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)	3.	(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)	Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)	4.	MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)		5.	MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)	
S#	NAME OF WORK	METHOD OF PROCUREMENT																	
1.	PROVISION OF PATIENT'S MEAL & CANTEEN SERVICES (REF. NO. DUHS/W&S-NIT/192)																		
2.	REPAIR AND MAINTENANCE OF GENERATORS (REF. NO. DUHS/W&S-NIT/193)	Single Stage-Two Envelope Procedure as per rule 46 sub rule-2 of SPP Rules 2010 (Amended upto date)																	
3.	(RE-TENDER) SUPPLY, FIXING, INSTALLATION & COMMISSIONING OF (270KW & 450KW) GRID TIED SOLAR SYSTEM AT (GIRLS HOSTEL, OJHA CAMPUS) & (WAREHOUSE, OJHA CAMPUS), DUHS KARACHI (REF. NO. DUHS/W&S-NIT/194)	Single Stage-Single Envelope Procedure As per Rule 46 (1) of SPPRA, 2010 (Amended up to date)																	
4.	MAINTENANCE & REPAIR WORK OF DOW UNIVERSITY OF HEALTH SCIENCES, OJHA CAMPUS, DUHS, KARACHI. (REF. NO. DUHS/W&S-NIT/195)																		
5.	MAINTENANCE & REPAIR WORK, DMC CAMPUS INCLUDING BOYS HOSTEL, GIRLS HOSTEL HIJRAT COLONY, DIDC AND DDC, KARACHI (REF NO: DUHS/W&S-NIT/196)																		
<table border="1"> <tr> <td>مبلغ - / 5,000 (پنج ہزار روپیہ) ناقابل وابسی بصرت ہی آرڈر/جیمانڈ درافت نالی ڈائٹ پریندر فیس پروپرٹی آن ہیلٹ سائنسز ٹریجی</td><td>پریندر فیس</td></tr> <tr> <td>بد سیکھیوں کی پر فارمنس سیکھیوں کی جیش واک دستاویزین پر درج آئی</td><td>سیکھیوں کی</td></tr> </table>		مبلغ - / 5,000 (پنج ہزار روپیہ) ناقابل وابسی بصرت ہی آرڈر/جیمانڈ درافت نالی ڈائٹ پریندر فیس پروپرٹی آن ہیلٹ سائنسز ٹریجی	پریندر فیس	بد سیکھیوں کی پر فارمنس سیکھیوں کی جیش واک دستاویزین پر درج آئی	سیکھیوں کی														
مبلغ - / 5,000 (پنج ہزار روپیہ) ناقابل وابسی بصرت ہی آرڈر/جیمانڈ درافت نالی ڈائٹ پریندر فیس پروپرٹی آن ہیلٹ سائنسز ٹریجی	پریندر فیس																		
بد سیکھیوں کی پر فارمنس سیکھیوں کی جیش واک دستاویزین پر درج آئی	سیکھیوں کی																		
<p>رجسٹر واک ڈینڈن لا نفصیلی شرط ہے ضابطن، صراحتن ہی کہہن ہی میں متحمل ای بدنگ دستاویز سند پبلک پروٹکٹری میں ریکارڈیتی اٹارنی جی ای پہ ہو رہا ہے https://portalsindh.eprocure.gov.pk/#/ پریندر فیس کی دستیاب آئن جیخی خنہن ہے مکار واری ذینہن تی واک کو کوئی جی تاریخ کا نساؤ، میں ڈائل ناقابل وابسی فیس جی ادائیگی کی حاصل ہتھی سکھہن ڈا۔</p> <p>الیکٹرانک واک بذریعہ ای پہ ہد آخڑی وقت 10:00 وکی بساریخ 16 فیبروری 2026 کان اگ لازمی جمع کر کرایا وچن دستی واک وصول ن ہکا ویندا الیکٹرانک واک تاریخ 16 فیبروری 2026 بوقت 30:11 وکی کر لیا ویندا ای بدنگ بات خنہن ہے معلومات جی لا، فسیلیتیٹر/ھارڈیٹیٹس پروٹکٹری میں پریندر فیس کی دستیابی میں ایڈنمن بلاک، پنجیں ماں، دی ایم سی ٹکٹیں، بامبا، اردو رو، ندو سول اسپتال، ٹریجی سان فون نمبر 021-38771000 (Ext. 5820/5907) تی رابطہ خریوں پریندر فیس (ناقابل وابسی) ہے بد سیکھیوں کی قابل وابسی بصرت ہی آرڈر/جیمانڈ درافت/بینٹ کارنی پاکستان جی خنہن ہے شہریوں بینٹکہ ہر نالی واک پروپرٹی آن ہیلٹ سائنسز ٹریجی جمع کرایا وچن جیخی فسیلیتیٹر/ھارڈیٹیٹس پروٹکٹری میں چاٹاپل دفتر ہے ساکٹی یعنی ہی بھجن گہریں مخصوص پاران عمار موکل ہے غیر یقینی صورتحال جی صورت ہے، پریندر واک ان کان اگٹکن ذینہن ساکٹی ہندے ہے وقت تی آن لائن کوکیا ویندا پروٹکٹریک ایجنسی اسی ہی روز 2010 (اچ جی تاریخ تائین تمیز تیل) جی لاگاپل شن ہی تحت خنہن ہے یا سینی واخن کی رہ ٹکڑن جو حق محفوظ رکی ہے ذکر ٹکل روڑ 25 جی تھت واک یا تحریز قبول شن کان اگ واک جی عمل کی معطل ہتھی سکنی کی تی این آئندہ پریندر دستاویزن جی وج ور کنہن ہے ایہا جی صورت ہے پریندر کی قویتی ذی ویندی</p>																			
<p>ڈائٹ پریندر ور کس اینڈ سروزز دیار تھیمنٹ، (دی یو ایچ ایس)</p>																			